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Calculus 2c-4

Preface

Preface

In this volume I present some examples of mazimum and minimum, cf. also Calculus 2b, Functions of
Several Variables. Since my aim also has been to demonstrate some solution strategy I have as far as
possible structured the examples according to the following form

A Awareness, i.e. a short description of what is the problem.

D Decision, i.e. a reflection over what should be done with the problem.
I Implementation, i.e. where all the calculations are made.

C Control, i.e. a test of the result.

This is an ideal form of a general procedure of solution. It can be used in any situation and it is not
linked to Mathematics alone. I learned it many years ago in the Theory of Telecommunication in a
situation which did not contain Mathematics at all. The student is recommended to use it also in
other disciplines.

One is used to from high school immediately to proceed to I. Implementation. However, examples
and problems at university level are often so complicated that it in general will be a good investment
also to spend some time on the first two points above in order to be absolutely certain of what to do
in a particular case. Note that the first three points, ADI, can always be performed.

This is unfortunately not the case with C Control, because it from now on may be difficult, if possible,
to check one’s solution. It is only an extra securing whenever it is possible, but we cannot include it
always in our solution form above.

I shall on purpose not use the logical signs. These should in general be avoided in Calculus as a
shorthand, because they are often (too often, I would say) misused. Instead of A I shall either write
“and”, or a comma, and instead of V I shall write “or”. The arrows = and < are in particular
misunderstood by the students, so they should be totally avoided. Instead, write in a plain language
what you mean or want to do.

It is my hope that these examples, of which many are treated in more ways to show that the solutions
procedures are not unique, may be of some inspiration for the students who have just started their
studies at the universities.

Finally, even if I have tried to write as careful as possible, I doubt that all errors have been removed.

I hope that the reader will forgive me the unavoidable errors.

Leif Mejlbro
17th October 2007
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Calculus 2c-4 Maximum and Minimum

1 Maximum and Minimum

Example 1.1 Ezplain in each of the following cases why the indicated function has a mazimum and
a minimum, and find these values.

1) f(z,y) =8x/$2+3y2—5x—y2f0rx2+3y2§4,
2) f(z,y) = 2* — 3y* — 3wy for 2% + y>.
3) flr,y)=ay+y?> -5y —3Inz forz>1and 0 <y <5—uz.

4) flx,y) = (2® +y* = 2y)(2® +y* — 6y) for 2 +y* < 36.

64
5) f(x,y)zxy+—+—for:c21,y21 and zy < 32.
X

6) f(x,y) =322 + 3y? — 22y — 22%y? forx >0, y > 0 and 2% +y* < 4.
7) f(z,y) =e %Y + e Ysinz for (x,y) € [0,27] x [0,1].
8) flx,y) = a* +y* — 2% + 22y — y? for 22 + 9% < 4.

9) f(x,y) = 8zy® —ay® — 2’y for (z,y) €[0,4] x [0,8].
A Maximum and minimum for continuous functions on closed and bounded (i.e. compact) sets.

D Apply the second main theorem. Sketch the domain. Apply that the maximum and the minimum
are either attained at an exception point or in a stationary point of on the boundary.

I All functions are continuous on a closed and bounded set, so by the second main theorem for
continuous functions the function has both a maximum and a minimum on the set.

With 1) as the only exception, all the rest of the functions are of class C'*° in the interior of
their respective domains. We shall therefore in all these cases only find the stationary points and
examine the boundary.

In 1) the function is continuous everywhere, and not differentiable at (0, 0), so this is an exceptional
point.

1) The domain is an ellipsoidal disc given by

&%) =

V3

of centrum (0, 0) and half axes 2 and —.
(0,0) 7
a) THE EXCEPTION POINT. The function is of class C*° everywhere inside the ellipse, except
for (0,0), which is an ezception point. The value of the function is here

£(0,0) = 0.
b) STATIONARY POINTS. In the domain given by 0 < x2 + 3y? < 4, the equations of the
stationary points are

of 8w s_0, 2,y

9r a2t 32 T Oy P3P
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Calculus 2c-4 Maximum and Minimum

The latter possibility is rejected, because /22 + 3y? < 2 in the given domain. We conclude
that we necessarily have y = 0, whenever we have a stationary point, if any-
When y = 0 is put into the former equation of the stationary points we get

x

= =5,

Ed
which is never fulfilled. We conclude that there is no stationary point in the domain.

¢) EXAMINATION OF THE BOUNDARY. On the boundary, 22 + 3y? = 4, hence
2 1 2
y :3(47“%), x € [-2,2].

When z € [—2,2] is used as a parameter, we get along the boundary

4 — a2 1 1
fla+ T ) = 8. 2-br—>(4d—1a?) = >(a% — 15z +44)
3 3 3
1 15\° 49| 1
_ 1! B Do G OV —11).
3{( >) 4} L)1)
The maximum in the interval [—2, 2] is obtained for = —2, corresponding to

f(=2,0) =16 + 10 = 26,
and the minimum for x = 2, corresponding to
f(2,0) =16 — 10 = 6.

d) NUMERICAL COMPARISON. Summarizing the maximum and the minimum are included in
the values

f(_270) = 267 f(an) = 07 f(SU, 0) = 6
It follows that
S = f(-2,0) =26 (maximum) and M = f(0,0)=0 (minimum).

2) The domain is here the unit disc.

05 15
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Calculus 2c-4 Maximum and Minimum

a) EXCEPTION POINTS. The function is everywhere of class C'*°, so there are no exception

points.
b) STATIONARY POINTS. The equations of the stationary points are
of of
—=2x—-3y=0 —=—6y—3x=0
Oz Y ) By Y )

and it follows that (0,0) is the only stationary point in the domain. The value of the
function is here

£(0,0) = 0.

¢) EXAMINATION OF THE BOUNDARY. We shall use the following parametric description of
the boundary,

r =cosy, Yy =singp, p € [0, 27,
hence by insertion,
g(p) = f(z,y) =2* —3y* — 3xy = cos’ p — 3sin® p — 3cos ¢ - sin @

1 1
= 5{1 + cos2p — 3(1 — cos2¢) — 3sin2¢p} = 5{40052@ —3sin2p — 2}
5 (4 3 5
= 5 {g cos 2¢ — gsin&p} —-1= 5005(290—}—900) -1,
where
3

cos o = 5 and sin g = 5

Now cos(2¢ + o) goes twice through the interval [—1, 1], when ¢ goes through [0, 27|, and
we find the maximum

5 3
Ty
and the minimum
ST
2 2

on the boundary.
d) NUMERICAL COMPARISON. By comparison we see that the value f(0,0) = 0 from the
stationary point lies between these two values on the boundary. We therefore conclude that

3 7
5=2 M=—_"t
7 %% 2

3) The domain is the closed triangle between the lines x =1, y =0 and y = 5 — z.

a) STATIONARY POINTS. The stationary points are the solutions of the equations

0 3 0
—f:y——:0 and —f:ac+2y—5=0,
ox x dy

6
from which x + — — 5 = 0. Since = > 1, we get
T

2?2 —b5r4+6=(x—2)(xr—3) =0,
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Calculus 2c-4 Maximum and Minimum

3
the roots of which are x = 2, corresponding to y = > and z = 3, corresponding to y = 1.
We get the two stationary points

(2%) oz (3,1).

The values of the function are here

2
f<2,§> —2~g+<%> —5~%—3ln2:f§—3ln2,

and
f3,1)=3-1+1>-5-1-3In3=—-1-3In2.

b) EXAMINATION OF THE BOUNDARY.
i) If y = 0, then the restriction

f(z,0) = —3nz, x € [1,5],

is monotonous with its maximum f(1,0) = 0 and its minimum f(5,0) = —31n5.
ii) If z = 1, then the restriction

fLy) =y -4y, ye[l,4]

has the maximum f(1,0) = f(1,4) = 0 and the minimum f(1,2) = —4.
iii) If y =5 — x, then
fx,5—2) = z(b5-2)+GB-2)>-556—-2)—3nz
= -3z for x € [1, 5],
where the maximum is f(1,4) = 0 and the minimum is f(5,0) = —31n5.
¢) NUMERICAL COMPARISON. We shall compare

f(z,%):-%-mm, f(3,1) = —1—3In3,

f(1,0) =0, f(5,0) = =3In5,
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f(l,O):f(1,4):O, f(172):_47
f(1,4) =0, f(5,0) = —=31In5.
The maximum is clearly
f(1,0) = f(1,4) =0.
By using a pocket calculator we then get approximately,

—z —3In2~ 4,33, —1-3In3~—-4,30, —3In5~ —4,83.

We conclude that the minimum is

f(5,0) = —=3Inb5 =~ —4,83.
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Calculus 2c-4 Maximum and Minimum

4) The domain is the closed disc of centrum (0,0) and radius 6.

It is easy to find the three stationary points
(0,0),  (0,3++V3) and (0,3—V3),

where (0,0) is not an extremum, while (0,3 4 v/3) is a minimum point, and (0,3 — v/3) is a
maximum point. The function values are then

£0,3+V3)=-36—-24v3,  f(0,3—3) = —36+24V3.

STATIONARY POINTS. We get by differentiation

g_f = 2z(a? + y? — 6y) + 22(2” + v — 2y) = du(2® + y° — 4y)
x
and

0

8_5 = (2y—2)(a® +y* —6y) + (2y — 6)(z* + % — 2y)

= 2y —4)(@® +y* — 6y) +2(2* +y* — 6y)
+(2y = 4) (@ + % - 2y) - 2(2® + 7 — 29)

= Ay—2)(@" +y* —4y) -8y

= 4{(y-2)(«® +y* —1y) - 2y} .
The two equations for the stationary points are
(1) { r(x? + 9% —4y) =0,

(y—2)(a® +y* — dy) = 2.

It follows from the former equation that the stationary points either lie on the line x = 0 or on
the circle 22 + (y — 2)? = 22
a) If z =0, it follows from the latter equation that

0=(y—2)(y" —4y) — 2y = y{(y — 2)(y — 4) — 2} = y{y” — 6y + 6},

which has the two solutions y = 0 and y = 34 /3. Thus we get in this case three stationary
points

(0,0,  (0,3+V3) and (0,3 —V3).
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Calculus 2c-4 Maximum and Minimum

b) If 22 +y? — 4y = 0, it follows from the latter equation of (1) that y = 0, and thus z = 0, so
we find again (0,0).

Summarizing we get the three stationary points
(0,0), (0,3+V3) and (0,3—V3).

REMARK. Since we are searching the mazimum and the minimum (and not the extrema), it is
sufficient to calculate the value of the function in these points, and e.g. the (r, s, t)-investigation
is totally superfluous (and a waste of time). ¢

By computation we get f(0,0) =0, and
70.3+v3) = {3+v3?—263+v3)} {3+ V) -6+ V3)}
= (12+6V3—6—2V3)(12+6V3 — 18 — 6V/3)
= (6+4V3)(—6)
= 36— 243,

and analogously
£(0,3 —/3) = —36 + 24V/3.

EXAMINATION OF THE BOUNDARY. We have on the boundary 2 + y? = 36, so
fla,y) = @ +y* —2y)(a® +y* — 6y)
= (36 —2y)(36 — 6y)
= 12(18 - y)(6 - y)7 for Y€ [_676]7

where the maximum is
£(0,—6) =12-24 - 12 = 3456,

and the minimum is f(0,6) = 0.
NUMERICAL COMPARISON. Since f(0,3 4+ v/3) < 0, the maximum and the minimum of the
function in the domain are respectively,

S = f(0,—6) =3456 and M = f(0,3+ V/3) = —36 — 24/3.

ALTERNATIVE SOLUTION. The argument of the second main theorem concerning the existence
of the maximum and the minimum is the same as above.

Write the function f in the following way:

flayy) = (@ 4y = 29)(@® +y° —6y)
= {2+ (@y—-1)*-1}{2?+ (y —3)* - 3%},
and discuss the sign of f in the domain, i.e. sketch the zero sets (the circles of respectively

centrum (0, 1) and radius 1, and of centrum (0, 3) and radius 3) inside the domain and find the
signs in each of the thus defined subregions.

The function is positive inside the two sets of zero circles and also outside the same two sets
of circles, while it is negative between the two zero circles.

Download free books at BookBooN.com
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Calculus 2c-4 Maximum and Minimum

Figure 1: The zero curves inside the domain.

It follows immediately that the minimum must lie between the two sets of zero circles, i.e. in
the set

K((073)§ 3) \f((ov 1)3 1) = Ay,

and also that the minimum point must be a stationary point, because A; is open. Because
3—-V3 <2 =1+1, we see that (0,3 + /3) is the only stationary point in A >, so the
mininimum is (originally only a local minimum)

£(0,3 +V3) = —36 — 24V/3.
It follows in the same way that (0,3 — v/3) € Ay = K((0,1); 1) must be a local maximum
£(0,3 —V/3) = —36 + 24/3.
Finally by using polar coordinates in the plane,
flz,y) = (r* = 2rsing)(r? — 6rsiny)
r2(r — 2sin @)(r — 6sin ), 0<r<e6.
In the remaining region Az both factors are positive, so
r—2sinp >0 og r—~6sinp > 0.
The product is largest when sin ¢ is smallest, i.e. when ¢ = — g, thus sin ¢ = —1, corresponding
to
fz,y) =r(r+2)(r +6), 0<r<6.

This product is largest when r is largest, i.e. when » = 6 (the boundary), corresponding to
($7y) = (Ov _6)7 and

£(0,—6) = 3456.
When we compare with the other candidate above we conclude that the mazimum in A is
f£(0,—6) = 3456.

5) In this case it is difficult to sketch the domain because the hyperbola zy = 32 is very steep in
the neighbourhood of (1,32), and very flat in the neighbourhood of (32,1). It is demonstrated
on the figure what MAPLE does in this case.

The domain is bounded by the hyperbola xy = 32 and the lines x =1 and y = 1.
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Calculus 2c-4 Maximum and Minimum

From these we get

64 64
— =Ty =—
x y

so the stationary points lie on the line y = 2. Then by insertion 22 = 64 = 43, and thus
x =y = 4. We conclude from

r=42>1, y=4>1 and zy=16 < 32,
that we have the stationary point (4,4) in the domain. The value of the function is here
f(4,4) =16+ 16 + 16 = 48.

NoOTICE that we shall not check if (4,4) is an extremum.
b) EXAMINATION OF THE BOUNDARY.

32
i) We get along the boundary curve xy = 32, € [1,32], that y = —, and the correspond-
x

ing restriction is

f(x)—f<x,g) :32+%+2x, for z € [1,32],
X xX

where
p 64
g(:v):fﬁ+2:0 for z = V32,

32
corresponding to a minimum. The y-value is y = — = /32, and the value of the

V32
function at the point (1/32,+/32) is

64 64
V32,V32) =32+ — + — =32+ 432 =32+ 16V2.
A ) V32 V32

At the end points of zy = 32, x € [1,32], we get the values

64
f(1,32) = f(32,1) = 324+ 64 + oo = 98.

ii) We get along the boundary curve y = 1, x € [1, 32], the following restriction
64
h(z) = f(x,1) =2+ — + 64,
x
where
64

h'(x)zl—ﬁzo for z =8,

corresponding to a minimum
f(8,1) :8+%+64=80.
At the end points we get
f(1,1)=14644+64=129 and [(32,1)=32+2+64=098.
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Calculus 2c-4 Maximum and Minimum

iii) Due to the symmetry we get along the boundary curve x = 1 that the minimum is
f(1,8) = 80,
and that the values at the end points are
f(1,1) =129 and £(1,32) = 98.
iv) NUMERICAL COMPARISON. Summarizing the minimum is one of the values
f(4,4) =48, f(V32,V32) =32+ 16v2, f(1,8) = f(8,1) = 80.
From 32 + 16v/2 > 32 + 16 = 48 follows that the minimum is
M = f(4,4) = 48.
Analogously the maximum is one of the numbers
f(1,1) =129 and £(1,32) = f(32,1) =98,
hence the maximum is
S=f(1,1) =129

6) The domain is the quarter of a disc in the first quadrant of centrum (0,0) and radius 2.

259

a) STATIONARY POINTS. the stationary points are the solutions of the equations

0
—f =6z — 2y —4day®> =0,
2) i
— =6y — 2z —4dx°y = 0.
Ay
When we add the two equations we get the following necessary condition
0 = do+4y—4day® — 422y
= H+y) —zylz+y)}
= Az +y)(1—ay),
so either  +y = 0 (not possible in this domain) or zy = 1,

Download free books at BookBooN.com
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Calculus 2c-4 Maximum and Minimum

Analogously it follows from (2) that
4a*y? = 622 — 2xy = 6y* — 2y,

hence 22 = y?, which together with zy = 1 and = > 0 give x = y = 1. The only possibility
is (1,1), and by insertion into (2) we get that (1, 1) is a stationary point. Furthermore, we
see that (1,1) belongs to the domain. The value of the function at the point is

F1L,1)03+3—-2-2=2.

EXAMINATION OF THE BOUNDARY. On the boundary curve 22 + y? = 4 we shall use the
parametric description

T = 2cosyp, Yy = 2sin g, pe [072].

Then

g(p) = fla,y) =32 +3y* — 22y(1 + ay)
3:4—2-4cosp-sinp(l+4cosy-siny)
12 — 4sin2¢p - (1 + 2sin 2¢p)
= 12 —4sin2p — 8sin?2p

1 1 8
= 12-8<sin®2p+ = sin2p + — » + —
8{8111 <p—|—2 sin <p—|—16}—|—16

2 1\?
= 758<sin2cp+ Z) for 2¢ € [0, 7].

Here sin2¢ € [0,1] for 2¢ € [0, 7], so the maximum of g(¢) if obtained for sin2¢ = 0, i.e.
for either ¢ =0 or p = g, corresponding to

9(0) =g () = /2.0 = f0.2) = 12.

T
The minimum is obtained for sin 2 = 1, corresponding to ¢ = porr=Y= V2, where

g(g)=f(\/57\/5)=12—2-2-(1+2)=0.

ALTERNATIVELY we see that z = zy runs through the interval [0,2], when (z,y) runs
through the arc of the quarter circle. This means that

g1(2) = f(z,y) = 32% + 3% — 2xy(1 + 2y) = 12 — 22(1 + 2),

which is largest in the interval [0,2], when z = 0, which corresponds to (z,y) = (2,0) or
(0,2), and smallest when z = 2, which corresponds to (z,y) = (v/2,v2).

For x = 0 we get the restriction h(y) = f(0,y) = 3y? with the minimum £(0,0) = 0 and
the maximum

f(072) = f(230) =12,

and where we exploit the symmetry of x and y.
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¢) NUMERICAL COMPARISON. The minimum is one of the values
fLY) =2, f(vV2,v2)=0, [(0,0)=0,
and the maximum is one of the values
f(1,1) =2, f(2,0) = f(0,2) = 12.
It follows that the minimum is
M = f(v2,v2) = £(0,0)00,
and that the maximum is

5= f£(2,0) = £(0,2) = 12.
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Calculus 2c-4 Maximum and Minimum

7) The domain is here the rectangle [0, 2] x [0, 1].

@ on

04
0.2

04

a) STATIONARY POINTS. The stationary points are given by the equations

0

3_]; =e Ycosx =0,

% = —2e"% — e Ysinz = 0.
Ay

It follows from the former of these that cosz = 0, so either x = g orr = 3; Then we get

from the latter equation,
e Y(2e7Y 4+ sinx) = 0.
_ . 3 . _
Now e™% > 0, hence sinz < 0 and whence z = T Accordingly 2e7Y = 1 and thus
y=1n2¢€]0,1].
3
The function has a stationary point in the domain, namely (;, In 2). The value of the

function is here

3 3 1
f (g,hﬁ) =22 4 o InZgy (g) =7

b) EXAMINATION OF THE BOUNDARY
i) The restriction along the boundary curve y = 0, z € [0, 27] is

g(z) = f(x,0) =1 +sinzx.

It follows immediately that the maximum is f (g, O) = 2 and the minimum is f < 3;, 0> =

0.
ii) the restriction along the boundary curve y = 1, x € [0, 27], is

1 1
h(z) = f(x,1) = = + B sin .
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Calculus 2c-4 Maximum and Minimum

This gives the maximum

and the minimum

f<3_7r>:i_1:_6_1 (< 0).

2 e2 e e?

iii) We get the same restriction r(y) = e~2¥, y € [0, 1], along the boundary curves x = 0 and
x = 27 which corresponds to the maximum f(0,0) = f(27,0) = 1 and the minimum

F0.1) = fom1) =

¢) NUMERICAL COMPARISON. The maximum is one of the values

()t G-

T 1 1
— 1) == 4+ = = f(2 =1.
f(2, = to f(0,0)=f(m0)
The minimum is one of the values

3m 1 3
f (771112) :_Za f <7a0) 207

3 1 )
f(g’l):_eez , f(o’l):f(%’l):?

We conclude that the maximum is
S=f (%2,0) —2.
From (e — 2)% = ¢ — 4e + 4 > 0 follows by a rearrangement that e > 4(e — 1) > 0, hence

e—1
0< 2

3 1
T o) =
f(2,n) !

8) The domain is the disc of centrum (0,0) and radius 2.
a) STATIONARY POINTS. The stationary points are the solutions of the equations

ﬁ:4x3—2x+2y:0, g:4y3+2x—2y:0,
ox y

hence 423 = 2z — 2y = —4y3, ie. y = —2x.
We get by insertion

0 = 42® — 4z = 4w (z* — 1),

1
< T and the minimum is

so we have the possibilities x = 0, 1, —1, corresponding to the candidates
(0,0), (1,-1), and (-1,1)

of the stationary points. It follows by insertion (i.e. by testing) that they are actually all
stationary points. The values of the function are here

F£00,00=0 og f(l,-1)=f(-1,1)=1+1-1-2-1=-2,
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b) EXAMINATION OF THE BOUNDARY. We have on the boundary 22 + y? = 4,

i)

ii)

flay) = ot +yt =2 + 22y — ¢
= (2" ") = 2% — (2% + %) + 2y
= 124 2zy(1l —zy).
FIRST ALTERNATIVE. We get by the parametric description

x = 2cos @, y = 2sin o, v € [0,2n],

that

91(p) = fzy) =12+ 22y(1 — 2y)
12+ 2-4cose-sinp(l —4cos e - sinp)
12 4 4sin 2p(1 — 2sin 2¢p)

1 1 1
o . .. 2 L L =
= 12 8 (Sll’l 2(,0 B Sin QQD + 16) + B

=% (o LY
= 3 sm<p4.

2
1
The function <Sin 2¢p — Z) is smallest when sin 2¢py = T corresponding to the maxi-

25

mum g (p) = ER
1\ 2

The function (sin 2p — 4) is largest when sin2¢; = —1, i.e. when (z,y) = (—v/2,v/2)

or = (v/2,—+/2), corresponding to the value of the function

F(=V2,V2) = f(V2,-V2) = 0.

SECOND ALTERNATIVE. We see that z = zy runs through [—2,2], when (z,y) runs
through the circle of the equation 2 4 y? = 4. This means that it suffices to check

25 1\*
gg(z):12—|—2xy(1—xy):12—1—22—22’2:?—2(2—5)

25

1 25
for z € [-2,2]. We get the maximum for z = > corresponding to the value > -0= CR
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REMARK. As a curiosity we mention that the corresponding (z,y)-values are

V5+V3 VB— V3 VE—v3 VE+13
2 ’ 2 ’ 2 ’ 2 ’
VB4V VBV [(—VB+VE VB+V3

2 2 ’ 2 ’ 2 ’

(3)

but there is no need at all to find these point exactly to find the maximum and the
minimum. §

The minimum is obtained for z = —2, corresponding to go(—2) = 0 and (z,y) =
(—v2,v2) or (V3, —2).

¢) MAXIMUM AND MINIMUM. Summarizing we see that the maximum is
25 25
S = rnaX{O7 7} = —.

One is not asked of where the maximum is attained, so here is added that it is the value of
the function at the points given by (3).

o
Qacha?

it’s an interesting world

Get under the skin of it.

Graduate opportunities
Cheltenham | £24,945 + benefits

One of the UK’s intelligence services, GCHQ’s role is two-fold:

to gather and analyse intelligence which helps shape Britain’s
response to global events, and, to provide technical advice for the
protection of Government communication and information systems.
In doing so, our specialists — in [T, internet, engineering, languages,
information assurance, mathematics and intelligence — get well
beneath the surface of global affairs. If you thought the world was

an interesting place, you really ought to explore our world of work.

www.careersinbritishintelligence.co.uk

Applicants must be British citizens. GCHQ values diversity and welcomes applicants from
all sections of the community. We want our workforce to reflect the diversity of our work.

TP

T0P 100 [

s PRI

D&

Download free books at BookBooN.com

23


http://bookboon.com/count/pdf/346352/23
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The minimum is
M = min{—-2,0} = —2.

It is the value of the functions in the points (—1,1) and (1, —1).
9) The domain is here the rectangle [0,4] x [0, §].

a) STATIONARY POINTS. The stationary points are the solutions of the equations

of

- =8y" —y’ =32y = y(8y —y* — 32%) =0,
) 3?7 2.3 _ 2.2\ _

ayflﬁxy—iixy —x® = z(16y — 3y* — a*) = 0.

We have xy > 0 in the interior of the rectangle, so the equations are reduced to
> —8y+322=0 and 3y%—16y+2% =0,

hence
—32? = y% — 8y = 9y — 48y.

This is again reduced to
8y? — 40y = 8y(y — 5) = 0.

Now y > 0, thus y = 5 €]0,8[, hence 22 = 16y — 3y?> = 80 — 75 = 5, or (since x > 0),
r =+/5€]0,4[. When we put (z,y) = (v/5,5) into (4) we get

of ok ey of _ CmE Ry
o = 5(40 — 25— 15) = 0, ay_\/5(80 75— 5) =0,

and we conclude that (\/5, 5) is a stationary point in the domain. The corresponding value
of the function is

f(V5,5) =8V5-25 — V5125 — 5V/5 - 5 = v/5{200 — 125 — 25} = 50V/5.
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b) EXAMINATION OF THE BOUNDARY. It follows from
fla,y) = ay(8y —y* —a?),
that f(0,y) = f(xz,0) =0.
The restriction on the boundary curve 2z =4, y € [0, 8], is
9(y) = —4y(16 — 8y +y*) = —dy(y — 4)°

where

§05) = =y = 1 = Syly —4) =~y - )y~ 4+ 20} =120 ) (4= 3 )

4
Now ¢'(y) =0 for y =4 and for y = 3’ and the values of the function are

4 16 4\ 2 256 1024
f<4’§> =3 (4‘5) AT T

and f(4,4) = 0, and at the end points

F(4,00=0,  f(4,8)=—-32-16 = —512.

The restriction on the boundary curve y = 8, « € [0,4], is
h(z) = 82(64 — 64 — %) = —82?,

which clearly takes its maximum for x = 0 and minimum for x = 4, corresponding to the
maximum f(0,8) = 0 and the minimum f(4,8) = —512.
¢) NUMERICAL COMPARISON. The candidates of the minimum are

F(V5, 2= 50\1/052,4 F(0,9) = f(=,0) =0,
f <4, 5) = -5 [(4,8) =-256.
The candidates of the maximum are
F(V5,5) = 50V5,  f(0,y) = f(x,0) = f(4,4) = 0.
By comparison the get the minimum;,
M = f(4,8) = =512

and the maximum

S = f(v/5,5) = 50V/5.
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Example 1.2 We shall construct a cage for transportation of poultry from a board of the length 6 dm
and the breadth b dm. The board is broken at two places and then a net of steel wire is stretched over
it. Finally, two additional boards are added so that one gets a cage of a cross section of an equilateral
trapeze. We want to break the given board in such a way that the volume of the cage V dm?® becomes
as large as possible.

First prove that

V(z,y) = (6 — 2z — zcosy)bx sin y.
Then explain why the function V' shall only be considered on the set [0, 3] x [g, 71'}. Finally, find the
mazimum of the volume and the corresponding set (x,y) of coordinates.
A Maximum.
D Analyze the text. Check the model and find the maximum.

By cutting the trapeze (chop off the two triangles, so one gets a rectangle) we get the height (i.e. the
breadth of the trapeze)

h(z,y) = x - sin(r —y) = x - siny.

Figure 2: The skew lines are each of the length x, and the two obtuse angles are each of the size y.

Then compute the area,
1
Alz,y) = (6 —2x)(h(z,y)+2- 3 h(z,y) - zcos(m —y) = (6 — 2x)zsiny + xsiny{—x cosy}

Zsiny - cosy.

= (6 —2z%)siny —x

REMARK. It follows from the sign of the latter term that the areas of the corners are counted
. ™ . . . .

negatively, when y € }O, 5 [, which is quite reasonable when one sketches the corresponding figure.

O

It follows from the above that the volume is

V(x,y) = bA(z,y) = {(6x — 22%)siny — 2* siny cos y}b.
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Since z > 0 and 6 — 22 > 0, we must have x € [0, 3].

We can clearly choose y in the interval [0, 7]; but since we shall find a maximum, we must have

—x?siny cosy > 0,80 y € [g,w].

The task is then reduced to finding the maximum of the function
V(z,y) = {(6x — 22%)siny — 2?siny cosy}b

. ™

in the set [0, 3] x [5,7r} = A.

1) STATIONARY POINTS. The stationary points in the interior of A are the solutions of the equa-

tions
ov
— =b{(6 — 4x)siny — 2z siny cosy} = 0,
ox
Y

o
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Since b > 0, x > 0 and siny > 0 in A°, these equations are reduced to

(6 —4x) — 2z cosy = 0,
(5)

(6 —2z)cosy — z(2cos?y — 1) = 0.
It follows from the former equation that

3—2 3
—1 < cosy = x:——2<0,
T T

3
so — < z < 3 for possible stationary points. When the value above cosy is put into the latter
equation of (5), then

0 = (6—2:,;)-3;z—x{2<3x2z>2—1}

= %{(6 —2z)(3 — 2z) — 2(3 — 22)* + 2%}

_ i{(?’ —22)[(6 — 22) — (6 — 4a)] + 2%}

1
= {B-22)- 20427} =2B-2)+z=6-drta
= 6—3x,
3—4

1 2
hence x = 2, and thus cosy = —5 = corresponding to the candidate (z,y) = (2, ?ﬂ-)

2
TEsT. That (2, %) really is a stationary point, follows from the computations

ov 2 o 2 2 1
& = b{(6—8)sin§—2~2sin§ COS%}:bSiﬂ%(—Q—Z-I (—§)> =0,

o 2 5 27 B 1 1 B
E b{(12 8)cos3 4(2cos 3 1)}—41){ 5 (2 1)}—07

and we have tested our result. ¢

2
The value of the function at (2, g) is

2 2T .21 2 \/g \/§ 1
V(Z?) = b{(12—8)81n?—4sm?cos?}—b{4-7—4-7~<—§>}

b{2V3 + V3} = 3V30.

2) EXAMINATION OF THE BOUNDARY. We get V(0,y) = 0 on the boundary curve x = 0, y €
s
77

™
On the boundary curve z =3, y € {57 W], we have the restriction

9
V(3,y) = —9bsiny - cosy = 5 b sin 2y,
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Figure 3: The form of the cage of maximum volume corresponding to the stationary point.

which has its minimum V' (3, g) =V (3,7) =0 and its maximum

3 9
V(o)

3 9
Figure 4: The triangle corresponding to V' (3, Zﬂ) =3 b.

Notice that this case corresponds to a degenerated trapeze, i.e. to a rectangular triangle, cf.
the figure.

T
On the boundary curve y = 50 T € [0, 3], we get the restriction

v(ag)= (6x2x2)b2b{j <x2>2}

with its minimum V' (3, g) =V(3,m) =0, and its maximum

3w 9
— =] ==b
V<2’2> 2
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Figure 5: The rectangle corresponding to V' (;, ;T) = g b. The Height is ; and each of the horizontal

pieces have the length 3.

Finally, V(z,7) = 0 on the boundary curve y = m, = € [0, 3], which does not contribute to the
candidates.

3 9
3) NUMERICAL COMPARISON. We conclude from 3v3 >3- 3 = 3 that the maximum is attained

2
at the stationary point (z,y) = (2, ?ﬂ-) with the value of the function

1% (2, 2;) = 3/30b.

The form of the corresponding cage is shown of Figure 3 in connection with the stationary
point.

Example 1.3 Check in each of the following cases if the given function has a maximum or a minimum
or both or none of the kind. If it has a maximum or a minimum give the value of the function at these
points.

1) f(a,y) = (z +y)exp(—a? —y?) for (z,y) € R?.

2) f(z,y) = zyexp(—z* — y?) for (z,y) € R?.

3) fz,y) = exp(z® — y?) — 2? —y* for (z,y) € R%.

4) f(z,y) = exp(a? +y?) — day for (z,y) € R2. [cf. Example 1.5]
5) f(z,y) = L+a? for 2% +y? < 2y + 3.

2 +y?—2y—3
6) f(z,y) =a®+2y° for (x,y) € R%.

7) f(z,y) = 3wy +In(1 — 2% — y?) for 2> +y% < 1.
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8) flw,y) =a®—22+y?>+3y+5 for 2 +y? <5.
9) f(x,y) =z +tanhy for 2% +y? < 2.

10) f(z,y) = 2%y — 222 + 4y? for |x| <2 og |y| < 1.
11) f(z,y) = (722 + day) exp(—y?) for |z| < 1.

A Extrema in open domain of C'*°-functions.

D Find the stationary points, if any. Check if they are extrema. Check also f(z,y), when (z,y) tends
towards the boundary or towards oo in the sense 2 + 32 — +o00.

I 1) The domain is R?. It follows from the different magnitudes of the terms that

flz,y) = (@ +y)exp(—z* —y*) - 0 for z* + y* — +oc.
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The stationary points are found by solving the equations

% = exp(—a? — y?) — 22(2 + ) exp(—2? — ?)
= {l—-2z(z+y)}exp(—2® —y*) =0,
% = {1-2y(@+y)}exp(—a® —y?) =0,

where we get the latter equation by a symmetric argument.
We conclude from the equations above that
2e(z+y) =1=2y(z+vy),

hence # # 0, y # 0, z +y # 0 and y = z, so 4x> = 1. This implies that the stationary points

are
11 1 1
2'2) 8 272"
The values of the function are
11 1 1 1 1
)= d )=
1(z2)=7 = 1(5-3) -

which compared with the examination of the boundary gives that the minimum is

1 1 1
u=i(-p-3) =7
and the maximum is
11 1
s=1(33)= e
The function is of course 0 on the line y = —x.
2) It follows from the rules of magnitudes that
f(z,y) = zyexp(—2? —y?) = 0 for 2% 4+ y? — +o0.

The stationary points are the solutions of the equations

B
a—i = (y—22%y)exp(—2® — y°)
= y(1—22%) exp(—2® —y*) =0,
B
@—jj = 2(1—2?)exp(—2® — 4?) = 0,

where the latter equations follows by the symmetry.
These equations are reduced to the system
y(1-22%)=0 og x(1—2y*) =0.

If x = 0, then y = 0, hence (0,0) is a stationary point.
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1 1
If x = +—, then y = £——. We find in total five stationary points,

V2 V2

(0,0) <1 1) <11> <1 1) (11)
) 3 \/5’ \/5 ) \/57 \/§ ) \/i’ \/5 7 \/57 \/§ :
The values of the function at these points are

f(0,0) =0,
1 1 1 1 1
() =1 (75 8) o
1 1 1 1 1
(w0 (Ga) -
Summarizing the maximum is (by comparison)

CTIRIC AR

and the minimum is

s ()

3) If x =0, then

_y__t
T V2) 2

Sl

f(0,y) = exp(—y?) —y®> —» —00  for y — +oc.
If y = 0, then
f(z,0) = exp(2?) — 2% — 400 for © — +o0.
We conclude that the function has neither a maximum nor a minimum in the domain R2.

REMARK. Even though it is superfluous, we shall nevertheless for the exercise show how the
possible stationary points are found. The corresponding equations are

of 2 2y 11 _
e 2z{exp(z” —y°) =1} =0,
of 2 .2 _
- 2y{exp(z” —y“) + 1} = 0.

It follows from the latter equation that y = 0, which put into the former one gives
2z{exp(z?) — 1} = 0.

This equation is only fulfilled for x = 0, hence (0,0) is the only stationary point. The value of
the function is here f(0,0) = 0, and it is obvious that f(x,y) can be both positive and negative
in any neighbourhood of (0,0), so there exists no point in which a maximum or a minimum
can be attained. ¢
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4) Tt follows from the rules of magnitudes that
f(z,y) = exp(z? + y*) — day — +o0 for 2% + y? — +o0,
and the function does not have a maximum.

The possible stationary points are the solutions of the equations

of 22y A —
9 2z exp(a” +y°) — 4y =0,
of 22\ A
9y 2yexp(z® 4+ y*) — 4z = 0.

These equations are reduced to

(6) xexp(:z:2 + y2) =2y,
yexp(z? + y?) = 2z.

We get by adding these equations,

(z 4 y) exp(z® + y*) = 2(z + y).

.
. .
A\
iy \‘.‘ <
27\
(27777 XX/ b
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It follows from (6) that 2 and y must either be of the same sign or be 0. Therefore, if 2 +y = 0,
then (x,y) = (0,0).
If 2 +y #0, we get 22 + 92 = In2. It follows in this case from (6) that

a? exp(z® +y°) = 2zy = y® exp(z” + y?),

so 22 = y?, or y = z. The stationary points # (0, 0) are then satisfying
2?24 9% =222 =n2,

ie.

In2
r=y==+ HT

By insertion into (6) it follows that they are indeed stationary points, so we have three sta-
tionary points,

[In2  [In2 [In2 [In2
27 2 ) 27 2 |
The values of the function here are f(0,0) =1 and

) () e

From In 2 > — follows that the minimum is

! (\/? \/?) =f (—@—@) =2(1-1n2).

It was mentioned above that the function has no maximum.

5) The domain is the open disc of centrum (0, 1) and radius 2.

Clearly, the function

1422

P B W 2 +y? <2y +3,

f(xvy) =
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tends towards —oo, when (z,y) tends to the circle 22 + (y — 1)? = 4 from the inside. Therefore,
the minimum does not exist.

The stationary points are the solutions of the equations

0

3_£ - (22 + 92 igy_g)z [2${x2+y2—2y—3}—2x(1+x2)} _0,
4 1

3_5 B (z2+y2—2y_3)2{—(1+$2)-2(y—1)}=o.

Inside the domain, these equations are reduced to
z{(y—1)2?-5}=0 and y—1=0,

hence y = 1 and & = 0. The only stationary point is the centre of the circle (0,1). This
must necessarily be a maximum, because the maximum exists, and it can only be attained at
a stationary point (because the function is of class C°°). Hence the maximum is

S= 0.1 =—7.

REMARK 1. One can also find the maximum in the following way without any calculation. Note
that the numerator is positive, and the denominator is negative everywhere in the domain.
Hence, we shall make the numerator as small as possible (for x = 0), and the denominator
numerically as big as possible. The denominator can be written (x —0)% + (y — 1)% — 4, so this
situation occurs for (z,y) = (0,1). Since the optimum possibility for both the numerator and
the denominator occurs for at least 2 = 0, we conclude that (0,1) is a maximum point and
that the maximum is

1

O

REMARK 2. Another possible solution is the following: If x is kept fixed, then

14 22
ey PEEE

f(x,y)=—4

is largest when y = 1, and (z,1) belongs to the domain, so the the only condition on z is
|z < 2.

Then the task is reduced to finding the maximum of

2?2 +1 B 5

2
m2—4_1+x2—4 for =% € [0, 4].

f(l‘,l) =

This is obtained for x = 0, so the maximum is

5 1

6) The function f(x,y) = 2> + 2y® has neither a maximum nor a minimum in R?, because

+00 for x — 400,
—00 for x — —o0.

)= - {

We mention — though it is not necessary — that (0,0) is the only stationary point.

Download free books at BookBooN.com

36



Calculus 2c-4 Maximum and Minimum

7) Clearly, the function
f(z,y) =32y +In(1 — 22 — ¢?), 2?4+ y? < 1,

tends towards —oo, when (z,y) is approaching the boundary x? +y? = 1 of the unit disc (from
the inside). Therefore, the function has no minimum.

Clearly, it has a maximum, because it is continuous on every closed subset of the open unit
disc. We may choose this subset such that f(x,y) = —C on the boundary of the subset, where
C > 0 is any c positive constant. According to the second main theorem, f has a maximum on
the closed subset, and since f(0,0) =0 > —C, we cannot have the maximum on the boundary.
Since f is of class C*°, the maximum must be attained at a stationary point.

The stationary points are the solutions of the equations

2
%zgy_%zo,
(7) oz 1—a22—y
LI —
oy 1—a2—92

Clearly, (0,0) is a stationary point. It is almost obvious (due to the variation of 3zy in a
neighbourhood of (0,0)) that the maximum is not attained at (0,0).

We shall now find the stationary points # (0,0), which must exist, cf. the discussion above.
According to (7), such stationary points must satisfy

2zy

2 _ a2

3y” = e = 3z,

thus y? = 22. It follows from zy > 0 that  and y must have the same sign, so we conclude

that y = x. By eliminating y we get

0=3y(l —2? —y?) — 22 = 2{3 — 62% — 2} = z{1 — 627%}.

1
Since x # 0, we get * = y = £——, and the stationary points are

.
v (k) ()

The corresponding values are f(0,0) = 0 (found previously, and we have already shown that
this cannot be a maximum), and

L) ()l
V6" V6 Ve ove) 2 2]

which then necessarily must be the maximum. (This follows also from that In % < %)
8) Let

3\* 7
f(%w=w2—2x+y2—3y+5=(x—1)2+(y—‘> +1

for 22 + y% < (v/5)2.
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Figure 6: The domain with the longest possible line throgh (1, %) inside the domain.

2
3 3
Interpret (z —1)2 + (y — 5) as the square of the distance from (z,y) to the point (1, 5) in

3
the domain. Clearly, <1, 2) is the only stationary point. It follows from the rearrangement

that this is a minimum point corresponding to the minimum
3 7
M = 1,- ) =-.
(1)1

The function f(x,%) has a continuous extension to the closure of the domain given by 22 +y? <
5. Tt follows from the above that the maximum exists (the second main theorem) and since
there are no stationary points at hand, it must be attained at a boundary point. Then it follows
from the geometric interpretation above that the maximum is obtained at the intersection of

3
the line of the equation y = 37 and the boundary given by 22 + y? = 5 in the third quadrant.

This implies that the function does not have a maximum in the given open domain.

REMARK 1. For completeness it should be mentioned that the intersection point is
/5 /5
24/ —,=-3/— .
( 13’ 3 13)

3 1
The distance from this point to (1, 5) is of geometrical reasons 5\/ 13+ /5, so the maximum

on the boundary (hence also in the closed domain is

( \/7\/7> {;x/l—3+x/5}2+1f+5+\/%+110+x/@ O

REMARK 2. It should be obvious that if one did not use the geometric interpretation above,
then the task would give quite unpleasant computations. It is left to the reader to find the
maximum on the boundary by inserting the parametric description

z = /5 cost, y = V/5sint, t € 10,2 O
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3]
9) Clearly, the function f(x,y) = z+tanhy, 22+y? < 2, has no stationary point (e.g. 8_f =1=#£0),
x

and since the function is of class C*°, and the domain is open (i.e. without boundary points)
the function has neither a minimum nor a maximum in the domain.

10) Clearly, the function
flayy) =a?y =22 + 497, o] <2, |yl <1,

is of class C'°, so a possible maximum or minimum can only be attained at a stationary point.
The stationary points are the solutions of the equations

gz?my74m:2x(y72x):0, g—f
Y

2
= 8y = 0.
ox Ty

It follows from the former equation that either x = 0 or y = 2.

a) If z = 0, then we get y = 0 from the latter equation and (0, 0) is a stationary point.

Si.

Swedish Institute skxlls and a competitive advantage for your futul e.

Download free books at BookBooN.com

39


http://bookboon.com/count/pdf/346352/39

Calculus 2c-4 Maximum and Minimum

b) If y = 2z is put into the latter equation, we get
0 =22 + 16z = z(z + 16),

so either x = 0 (and y = 0 again as above) or x = —16. The latter is not possible inside
the domain.

The only stationary point is (0,0). The value of the function is here

£(0,0) = 0.

We conclude the task in the following way: The two restrictions
fOy) =4y Jyl<1,

and
f(z,0) = =222, x| < 2,

attain both positive and negative values at any point close to (0,0), hence f(0,0) = 0 is neither
a maximum nor a minimum. Since (0,0) is the only possibility of extremum, there does not
exist any.

ALTERNATIVELY (the standard procedure) the function is extended continuously to the bound-
ary, and then we we continue by examining the values on the boundary.

a) If = —2 and y € [—1, 1] the restriction is
gi(y) = f(=2,y) =4y — 8 + 4°

1
where ¢gj(y) =4—8y =0 for y = 7 The value is

1 1 1 1\?

At the end points of the interval we get the values of the function
F(=2,-1) = gi(~1) = —4—8+4 = -8,

f(=2,1)=g1(1) =4—-8+4=0.
b) If y =1 and = € [—2, 2] the restriction is

g2(x) = f(z,1) =2® = 22" +4 =4 - 2",

where ga(x) = —22 = 0 for x = 0. The relevant values of the function are
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Even if we have not examined the remaining two boundary curves, we can finish the task now,
because (0,0) is the only stationary point with the value of the function f(0,0) = 0. The
boundary does not belong to the domain, and by continuous extensions we find the values at
specially chosen boundary points

f(=2,—1) = =8 < £(0,0) =0 < £(0,1) = 4.

Accordingly, f has neither a maximum nor a minimum in the open domain. In fact, due to the
continuity we can inside the domain obtain values of the function as close to —8 as well to 4
as we wish.

11) The function
f(zy) = (T2? + dey) exp(—y?),  |z| <1,

is of class C™°, and it can be extended by the same definition to all of R2. This domain is open,
S0 a possible maximum or minimum can only be attained at a stationary point.

Possible stationary points are the solutions of the equations

o 0
a_i = (14z + 4y) exp(—y?) = 0, a_g = {4a — 2y(T2® + day)} exp(—y?).

Now exp(—%?) # 0, so these equations are equivalent to
Tr=-2y and {2 —Txy —4y*} =0.
If we only eliminate 7x in the term 7xy of the latter equation, we get
0=ax{2+ 2y — 4y*} = 22{1 — 4°}.
Combining this with the equation 7x = —2y we get the possibilities
=0, ie y=0, hence (z,y) = (0,0),

2 2
y=1, ie. z=-z, hence (z,y) = (;,1),

) 2
y=-1, ie z= 7 hence (z,y) = (? _1> :

All three stationary points lie in the open domain, and the values of the function are

f(0,0) =0,

and

EXAMINATION OF THE BOUNDARY. As mentioned above the function can be extended to the
boundary. As f(—xz,y) = f(z,y), it suffices to examine the restriction

g(y) = f(L,y) = (T+4y)exp(—y?), yeR.
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b\
~
<
N~—
I

. {<y+g)2<g)2}exp<y2>,

follows ¢'(y) = 0 for

corresponding to the boundary values

()5 () ()
4 4 16
and
f(1,=2) = g(=2) = —exp(—4).
Finally, it follows by the different magnitudes of the terms that

flz,y) =0  for |y| — 4o0.

Then by a numerical comparison

{4 —2y(7 + 4y)} exp(—y*) = (4 — 14y — 8y*) exp(—y°)

—% f (—%,1) =f (%,—1) < —e% = f(1,-2) < 0= f(0,0)

< 8exp (—%) =f <1,i> .

1 1
Since (1, Z) is a boundary point which is not included in the domain, and f (1, Z) is the

maximum in the closure, the function has no maximum in the domain given by |z| < 1.

On the other hand,

is a minimum in both the closed and open set, so the minimum exists.

42
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Example 1.4 Find in each of the following cases the largest volume of a rectangular box for which
the indicated condition is fulfilled.

1) The sum of the 12 edges is given equal to 12a.

2) The area of the surface of the box is given and equal to 6a>.

3) The length of the space diagonal of the box is given and equal to a.
A Maximum.

D Put the box into a rectangular coordinate system with one corner at (0,0,0) and where the cor-
responding edges lie along the axes in the positive sense, i.e. the box can be described as the
domain

[0,2] x [0,y] x [0, 2].

Find the volume as a function of the edges. Exploit the condition in each sub-question to eliminate
one of the variables. Indicate the domain, in which the remaining edges can vary. Finally, find the
maximum.
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I When the lengths of the edges are x, y, z > 0, then the volume is given by
V(z,y,2z) = zyz.
1) The condition that the sum of the 12 edges is equal to 12a is written
d(z+y+ 2z) =12a, ie. r+y+z=3a.

REMARK. For symmetrical reasons we may expect that the solution is given by x =y = 2z = a.
The remaining part of the task is to prove that this hunch in this case is correct. ¢

First eliminate z,

z=3a—xz—y >0, ez >0, y>0, z+y<3a.

Figure 7: The triangle in which we shall find the maximum of f(z,y) = zy(3a — x — y).

By insertion we see that we shall find the maximum of the function
fley)=2yBa—z—y), 2>20,y>0,z+y<3a

We have f(x,y) > 0 in the interior of the triangle, and on we boundary we have f(z,y) = 0.
Now f(x,y) is of class C'*°, so the maximum exists (second main theorem) and it can only be
attained at an interior stationary point.

The equations of the stationary points are

9 2

o ay —2zy —y° =y(Ba—2x —y) =0,
of
_— = — —2
3y z(3a —z — 2y),

where we immediately get the latter expression by the symmetry.
Since x > 0 and y > 0 in the interior of the triangle A we get the reduced equations

2z +y = 3a and T+ 2y = 3a,

and we find (a we guessed) © = y = a. The only stationary point is (a,a) corresponding to
z =3a—a— a = a, and as mentioned above this corresponds to a maximum,

S =V(a,a,a) = a>.
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2) In this case the condition is
2(xy + yz + x2) = 6a°.

REMARK. Due to the strong symmetry we may again expect the solution to be x =y = z = a.
This satisfies at least the condition. The remaining part of the task is to prove that also this
hunch is correct. <.

It follows from the condition that

3a? — xy
r+y

where 2y < 3a%, x > 0, y > 0 and (z,y) # (0,0), hence a troublesome expression.

Figure 8: The infinite domain of the function in Example 1.4.2.

The volume function is given in this domain by

3a% — zy - 3a’xy — x%y?
r+y x+y

flzy) =zy-
We conclude from

Y 2 2
0< f(z,y) < pryra 3a -z <x-3a°,
that f(x,y) can be extended by continuity from the first quadrant to the positive X and YV
axes supplied by the point (0,0) by putting the value of the function equal to 0. We have
also the value 0 of the function of the branch of the hyperbola zy = 3a? which lies in the first
quadrant. Finally, f(z,y) — 0, when either + — 400 or y — o0 inside the open domain.
Since f(z,y) > 0 is of class C* in the open domain, it follows from the second main theorem
that f(x,y) has a maximum, which necessarily must be attained at a stationary point in the
interior of the domain.
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The equations of the stationary points are

af 1
G g (BaY =29 (@+y) - (atoy — o)
= ﬁ {3(12(I +y) — 22%y — 229% — 3a’x + x2y}
Y
= m {3a2y —zy — 2ﬂcy2}
y? 2 2
and of symmetrical reasons,
of a? 2 2

Since z # 0, y # 0 and = + y # 0 in the interior of the domain, these equations are reduced to

2?2 4 2zy = 3a?, y? + 2zy = 3a?,
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accordingly 22 = y?, or y = z, because both = and y are positive. This implies that 322 = 3a?,
so © = y = a, and then finally,

3a% —a?
Z2=—=a.
2a

Since (a,a) is the only stationary point, the maximum must be attained here. We find as
expected that the maximum is

S =V(a,a,a) = a>.
3) The condition is here that the length of the space diagonal of the box is equal to a, i.e.

Vaz+y?+ 22 =a.

REMARK. As before the strong symmetry suggests that the solution must satisfy x =y =z =
a

V3

. We shall again prove this hunch. ¢.

Figure 9: The domain of the function xy+/a2 — 22 — y2.

It follows that
z:\/m, r>0,y>0, 2% 4+9° <d’

By insertion we get that the task is reduced to finding the maximum of the function
f(2,y) = zyv/a? — 22 — y?

in the closed quarter disc
A={(z,y) |2>0,y>0,2°+y° <a®}.

Clearly, f(x,y) = 0 on the boundary 0A of A. We have f(z,y) > 0 in the interior of A. Since
f is of class C'*° in the interior of A, and is continuous on A, it follows from the second main
theorem that the maximum (which exists) must be attained at a stationary point in A°.
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The stationary points satisfy the equations

o 2
or _ yvar—a? —y? — Y = J {a* — 227 —y*} =0,
Ox a2 — a2 — 42 a2 — 22 — g2
0 x
¥ L —w-a-w)=o
Y a® —x°—y

where the latter equation follows by the symmetry.
We then derive the equations

y=20 or 222 +y* = a?,

z=0 or 22 42y = a®.

Clearly, one of the coordinates must be 0, so
(0,0), (a,0), (-a,0), (0,a), (0,-a),

are all the possible stationary points. Unfortunately they all lie outside the interior of the
domain, so none of the counts in the following. (Three of then lie on the boundary, because
f(z,y) =0, and the remaining two points do not lie at all in the closure of A).

Our only possibility is obtained when

2 2

22 +y P =a and 2 4 2y% = a®.

2

a 2
2,sox2:y2:§. Nowx2+y2§a2<a2,so<

We get by a subtraction, y? = z

3%)

4=

is the only stationary point in A°, corresponding to the maximum

S_f<i 1) _a | <i)3
VERRVEY S VE] v3) |’
and we see that t =y =z = % in agreement with our earlier hunch.
Example 1.5 Show by applying polar coordinates that the function
fla,y) =exp(e® +9%) —day,  y=0, y=>0,
has a minimum and find this minimum. [cf. Example 1.3.4].

A Minimum by polar coordinates.

D Introduce the polar coordinates. Find the stationary points. Examine the boundary and what
happens when o — +oc.
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I The domain is the first quadrant. This is described in polar coordinates by
. T
T=pgcosp, y=psing, p€[0,+0], @€ {0,5]-
The function is now

9(0,¢) = f(z,y) = exp(0®) — 40” cos psin ¢ = exp(0*) — 20> sin 2.

The equations of the stationary points become

0

8—? = 2pexp(0?) — 4osin 2¢ = 2p{exp(0?) — 2sin 2p} = 0,
(8) 5

A —40%cos20 = 0.

I

It follows from o > 0 in the interior of the domain and the latter equation of (8) that the condition
is

cos2¢ =0, ie. sin 2¢ = %1,

where the former equation of (8) shows that only sin2¢ = +1 can be applied. Then

o=Fefo3]

We get by insertion into for former equation of (8),
exp(0?) = 2, dvs. o= VIn2.
Thus, the only stationary point is
7r
= (Vin2 _)
(0,9) ( n2,7)

corresponding in rectangular coordinates to

(2,y) = Q/g \/g)

The value of the function is here
g ( In2, %) =exp(ln2) —2In2 =2(1 —In2).
If o — +o0, then obviously g(g, ) — +o0.

We have on the boundary curves ¢ =0 and ¢ = g, 0 € [0, 400], that

3) =ewle).  oelo+ol

9(0,0) =g (9, 5

so the minimum value is here g(0,0) =1 > 2(1 —In2).
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Summarizing, f(z,y) = g(0, ¢) has a minimum in A for

(0,) = (\/E %) ,

corresponding in rectangular coordinates to

(2,y) = (\/? \/?)

The value of the function is here

g(\/mg) =f (\/g @) = 2(1—1n2),

in accordance with the result of Example 1.3.4.
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ALTERNATIVELY it is also possible only to use rectangular coordinates, and this is actually not
that difficult. The equations of the stationary points

g—i = 2zexp(z? +y?) —4y =0, g—:{; = 2yexp(x? 4+ y?) — 4a = 0,

ie.
rexp(x? +y?) = 2y, yexp(z? +y°%) = 2z,

SO
2y = zyexp(x? + y?) = 222,

and hence y = x, because we only consider the open first quadrant. Then
rexp(22?) = 2z, ie. exp(22?) =2,

hence

L In2
= T = _—
Y 2

The only stationary point in the open first quadrant is

(z,y) = (\/g \/?)

We have on the boundary either f(z,0) = exp(x?), or f(0,y) = exp(y?), with the minimum value
£(0,0) =1 > 2(1 — In2), so the minimum value is attained at the stationary point in the first
quadrant.

Example 1.6 Find the mazximum and the minimum of the function
flzy,2)=a?+y*+2°, x>0, y>0, 2>0, z+y+2z<1.
A Maximum and minimum.

D The existence follows from the second main theorem. Then either argue geometrically, or use the
standard method.

I The function f(z,y,z) = 22 + y? + 22 is continuous on the given closed and bounded domain. It
follows from the second main theorem that f has both a maximum and a minimum.

1) THE ELEGANT GEOMETRICAL SOLUTION. The value
fla,y,2) =a® +y° +2°

can be interpreted as the square of the distance from (0,0,0) to (z,y,z). This distance is
smallest (= 0) for (z,y,z) = (0,0,0), and largest (= 1) at the other corners (1,0,0), (0,1,0)
and (0,0, 1) of the tetrahedron which describes A.
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Figure 10: The domain.

Figure 11: The projection onto the XY plane.

2) THE STANDARD PROCEDURE. It follows immediately that (0,0, 0) is the only possible stationary
point, but since it lies on the boundary it is a matter of definition if it should be counted as a
stationary point or not. It will always be treated as a boundary point, when we examine the
boundary.

EXAMINATION OF THE BOUNDARY.

a) If z = 0, then f(x,y,0) = 22 + 32, which on the triangle in the XY plane is smallest at
(0,0) and largest at (1,0) and (0, 1).
This is immediately seen, and it can also be obtained by another examination of the bound-
ary in the XY plane on the triangle shown on the figure.

b) Due to the symmetry the same is true for the surfaces = 0 and y = 0.

¢) If z=1—x—y, then we get the same parametric domain as the domain above on the figure
in the XY plane, and the restriction is given by

g@y) = flry,l—z—y) =2+ + (1 -z —y)*
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The equations of the possible stationary points are

% = 2z—2(l—-z—y)=22x+y—1)=0,
g

-~ — 9 2y — 1) =

By (I+ Yy ) 0,

1
(the latter equation by symmetry). Accordingly, y = « and 3(z +y) = 2, i.e. z =y = 3"
Then by insertion,

L1y _, 11
IN\33) 772 33" 3

i) We get on the boundary « +y =1,
gl l—z)=2"+(1-2)* 2€[01],

with its minimum

11 11 1
S i) =222 forx—-
g<2’2) 1-3 Ty

and its maximum for z = 0 or = 1, corresponding to
9(0,1) = ¢(1,0) = 1.
ii) We also get the restriction
o(r) = 2% + (1 — )2, x € [0,1],
on the boundary y = 0, and on the boundary x = 0 we get
vy) =y +(1-y)?  yel01].

Anyone of these will lead to precisely the same investigation as above.
By comparison of these values we conclude that the minimum is

M = f(0,0,0) =0,
and the maximum is

The latter method is rather troublesome compared to the geometric interpretation.
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Example 1.7 Prove that the function
fz,y) = 2% 4+ 2% — 2z, (z,y) € R?,
has both a mazximum and a minimum on the point set
A={(z,y) | 220, 2% +y* <2},
and find these values.
A The second main theorem. Maximum and minimum.
D Apply the second main theorem for continuous functions. Then find the maximum and minimum.

I Since f(x,y) is real and continuous on the closed and bounded domain A, it follows from the second
main theorem for continuous functions that f has a maximum and a minimum on A. This proves
the existence. We shall in the following give two methods for the explicit determination of these
expressions.
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1) GEOMETRICAL CONSIDERATION. First rewrite f in the following way,

2
f(x,y):J;2—|—2y2—2x:(x—1)2+2y2—1:2{<$\;§1> +y2}—1.

Figure 12: The largest possible ellipse, which intersects (touches) the domain.

It follows immediately from the first rearrangement that the minimum is attained at the point
(1,0) € A of the value of the function

M = f(1,0) = —1.
From the latter rearrangement follows that

flz,y) =2a% -1
is constant for every point on the ellipse of the equation

2

(57) -
Therefore, the maximum must be attained on the largest of these ellipses (characterized by
a > 0 being largest), which has points in common with A. It follows immediately from the

figure that these maximum points must be (z,y) = (0, £1/2) on the Y axis. Hence the maximum
value is attained at these points,

S = f(0,+V2) = 4.

2) THE STANDARD PROCEDURE. The function is of class C*°. Therefore we shall only find the
stationary points in A° followed by an examination of the boundary and numerical comparisons.

a) STATIONARY POINTS. The possible stationary points are the solutions of the equations

of _ of _

D 2z —1) =0, 9y

4y = 0.

It follows that (1,0) is the only stationary point in A°. The value of the function is here
f(1,0) = —1.
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b) EXAMINATION OF THE BOUNDARY.
i) The restriction on the boundary z = 0, y € [—v/2,v/2], is

F(0,y) =297,
which has its minimum f(0,0) = 0, and its maximum
F(0,v2) = £(0,-v2) = 4.

ii) The restriction on the boundary curve 2 4 32 = 2, z € [0,v/2], is
g(x) = flz,y) =2%+2y* — 22 =2(2* +9*) — 2 — 2z
441 —(z+1)*=5—(x+1)2
which has the minimum

g(V2)=5—-(V2+1)?=2-2V2=—-2(vV2-1) > —1,

and its maximum ¢(0) = 4, corresponding to y = £v/2.
¢) NUMERICAL COMPARISON. Summarizing, the minimum in A is

M = f(1,0) = -1,
and the maximum is

S:f(ovﬁ):f(oviﬁ)zzl

Example 1.8 Given the function
flz,y) = 2% + 9 + e, (z,y) € R2.
First show that f does not have a maximum in R?. Then prove the following:
1) The function f has a minimum M on the disc A = K((0,0);10).
2) M is smaller than 100.
3) We have the estimate f(z,y) > 100 in the point set R? \ A.
Finally, check if f has a minimum in R?.
A Extrema.
D Prove that f(z,y) — +oo for 22 + y? — +o00. Then prove 1) — 3). Finally, argue for a minimum.
I Clearly,
(9) flz,y) =2 +y° +e™ > a® + 7,
thus f(z,y) — +oo for 22 + y? — +oo. It follows that f(z,y) has no maximum in R2.

1) Since f(z,y) is continuous and A = K((0,0);10) is a closed and bounded set, f(z,y) has
according to the second main theorem for continuous functions a minimum value M on A.

2) Clearly, M < £(0,0) =1 < 100.
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3) If (z,y) € R?\ A, then it follows directly from (9) that
f(z,y) > 10? = 100.

Now R? = AU (R%\ A), and f(z,y) > 100 on the entire R? \ A, while there are points in A, for
which f(z,y) < 100. Therefore, a possible minimum must lie in A, and since it exists according
to 1) and is equal to M, we conclude that f has the minimum M in all of R?.

ADDITIONAL REMARK. Since f(z,y) is of class C'*°, the minimum M is attained at a stationary
point. The equations of the stationary points are

% =2z +ye®™ =0,
(10) ox

of

— =2y +xe” =0,

Ay

which has only (0,0) as a stationary point, so

M = f(0,0) = 1.

That (0,0) is the only stationary point follows from the following: Clearly, zy < 0. We have
according to (10),

212 = —zye®™ = 22,
so y = —z. By insertion into the former equation of (10) we get
0 =22 — zexp(—2?) = 2(2 — exp(—2?)).

From exp(—2?) < 2 follows that # = 0, and thus y = 0, so (0,0) is the only stationary point. ¢

Example 1.9 [t is well-known that if a C'-function g : R — R has precisely one stationary point g,
which is a local minimum point xq, then g has a global minimum at xg.
Show that no such result exists in general for functions f : R? — R, by considering

fla,y) =2 + (1 + 2)°, (z,y) € R%.
A Another illustration of the difference between one and several variables.

D Show that the given function f has precisely one stationary point in which there is a local minimum,
and that this minimum is not a global minimum.

I When
fla,y) =2® +y* (L + ),
we get the following equations of the stationary points,

of 2 2 3
B x4+ 3y“(1+x) 0, 9y y(1+2°)=0
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Figure 13: How the surface of the graph might look like for a counterexample.

The latter equation shows that either y = 0 or z = —1.

If we put y = 0 into the former equation, we get x = 0, so (0,0) is a stationary point.

If x = —1, we conclude from the former equation that — = —2 # 0.
x

of

This shows that (0,0) is the only stationary point. The value of the function is here f(0,0) = 0.

Clearly, the approximating polynomial of at most second degree from (0,0) is

Py(z,y) = 2 +y°.

This structure shows that (0,0) is a (local) minimum point.

We then get along the restriction y = 1 that

f(z, 1) :z2+(x+1)3 — —00

for x — —o0,

so f(x,y) does not have a global minimum.

Example 1.10 Find the range of

flz,y) = =3y +4y* + 2’y + °

on the open disc K((0,0);1), and on R?, resp.

A Ranges.

D Find the possible stationary points; examine the boundary. Apply the main theorems for continu-

ous functions.

I The function is of class C* in R?. Restricted to the closed disc K((0,0);1) we have according to
the second main theorem both a maximum and a minimum, and these are either attained at a
stationary point or on the boundary.

Since the domain is connected, it follows from the first main theorem for continuous functions that

the range is an interval.
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Download free books at BookBooN.com



Please click the advert

Calculus 2c-4

Maximum and Minimum

STATIONARY POINTS. The equations of the stationary points are

8_f:2xy20, g=—3+8y+x2+3y2=0-
ox dy

If y =0, then 2 = ++/3.
1
If z = 0, then 3y? + 8y — 3 = 0, i.e. either y = —3 or y = 3"

The stationary points are

1
(V3,0), (—V3,0), (o, 5) ., (0,-3).
1
Of these, only <O, §> belongs to the open unit disc. The value of the function is here

f o1 =-3 1+41+0+1— 14
3] 3 9 21 27

£
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EXAMINATION OF THE BOUNDARY. We have on the boundary 22 + y? = 1, which can also be
written 22 = 1 — y2. Hence, we get the restriction

9(y) = @Y =4y — 2y
2

1 1
= 2 _— = _——
(y Q 1
NN 1

= 4dly—-] —= —1,1].

<y 4> o velny

. . 1
It follows from these rearrangements that the minimum on the boundary is g <Z) =-p and the

maximum is
5\ 1 25 1
won-a(2) - lem ot

1
Since the boundary is connected, the range of the boundary is the interval [_Z’ 6].

1
The value of the function at the stationary point (0, §> is smaller than the smallest value of the

function on the boundary, because

The range is connected, and the value 6 of the function on the boundary cannot be obtained in
the interior, although we may come as close to this value as we wish. Hence

14
K((0,0);1)) = |——,6] .
FUE(0.051) = | 57,6
The range of f over R? is of course again R. For instance, the restriction
F0,y) = =3y + 4y° + ¢°

tends towards +oo for y — +o00, and towards —oo for y — —oo, and by the first main theorem
the range is an interval.
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Example 1.11 When we approximate a function by an approximating polynomial based on Taylor’s
formula, the error is zero at the point of expansion, and it will usually increase with the distance form
the point of expansion. We may get different results by using other polynomials for our approximation.
One of the possibilities is to level out the error by demanding that the integral of the square of the
error should be as small as possible. As an illustration we consider the function

T
t) = t ——<t<—
) =cost,  —T<i<?
and a polynomial
Qizy) =z —ty?, —Z<t<.

Find x and y, such that the integral
I(ay) = m{f() Qtz.y))dt

becomes as small as possible. Then compute the error of t = :i:z, partly by approximation by the

found polynomial Q, and partly by using the Taylor polynomial of at most second degree Ps.
A Minimizing in L? norm.

ol ol
D Compute I(z,y) and minimize. Alternatively, compute 9 and Ew directly. Compare with the
€z Y

Taylor polynomial.

I Since f(t) = cost is an even function, it is quite reasonable to approximate by a polynomial Q(¢; z, y)
of even degree in ¢t. Since f(t) — Q(t;x,y) is even in ¢, we get

) = [ 15— (t;x,y)}th:2/05{cost—x+yt2}2dt.

T
2

Clearly, I(z,y) > 0 is continuous, and I(x,y) — +oo for 22 +y? — +00, so I(z,y) has a minimum
in R%. Now I(z,y) is of class C°°, so this minimum must be attained at a stationary point.

1) FIRST VARIANT. By differentiation under the sign of integration we get the equations of the
possible stationary points

T
I 2 2
% = 2/02(,%{cost—x+yt2}2dt——4/02(cost—x—|—yt2)dt
1 5 m 73
= dlsint—at+ -yt =-4(1-Zo+
[bmt xt+3yt]0 < 236—1—243/) 0,
and
oI /3 B) 02 T, )
— = 2 — jcost —x +yt dt:4/ t“(cost — x + yt*)dt
dy 0 (9y{ } 0 ( )

s

[SE]

- 4/2(t2costfxt2+yt4)dt: [tzsint+2tc0st7251nt7 §t3+gt5
0

5 Jo
7TQ 7T3 775
Y T 0.
(4 227" 160
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These are reduced to

72 2 w2 6
x—ﬁy:— og x_%y:—g,(ﬂ- -8),
hence
3r? w2 2 6 48 9
(z—o—ﬁ)y:r; R
and thus
15 4 60
y:ﬁ~ﬁ(12—7r2):$(12—772)

and accordingly

2 2 7w 60 2 1 2 3
= — S (127 4+ 2 = (60 —57%) + = = (20 — 7°).
* 12y+7r 12 71'5( 7T)+7T 7r3(0 57T)+7r 7r2(0 )
The only stationary point is

@) = (S0 -, Faz-m).

™

and it must correspond to a minimum for I(x,y). Notice that > 0 and y > 0.

2) SECOND VARIANT. Alternatively we compute I(x,y):
g 22
I(z,y) = 2/ {cost — x + yt=}°dt
0
= 2 / {cos? t+x2 +y*t? —2x cost —2xyt* +2yt? cos t }dt
0

1 L. 2 y2 5 .
= 2 §t+§smtcost +x t+€t —2xsint

™

2 2
-3 xytd + 2y{t? sint + 2t cost — 2sin t}}
0
3

5 2
= 2{%+zz2+ﬂ—y22xﬁ—xy+2y{ﬂ—2}]

2 160 12 4
2+752 ° 4+(2 8)+7T
= wx'+ —y° — —ay—4dx+ (77 — —.
0/ 6" Y3
The equations of the stationary points,
ol 3
== ra—y—4=0,
ox Ty
oI 7o 3 9
a _ -, _8—0
By 0! G T ’

are identical with the equations of the first variant. The unique solution is

60

3 2 2 .
(z0,10) = (F@O —n%), 5127 )) ~ (0.980162; 0.417 698),
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corresponding to a minimum for I(x,y), given approximatively by
I(z0,y0) = 0.000936.

REMARK. This approximation is also called the approximation in energy over the given interval.
It is seen that this is extremely good even for a polynomial of degree two (an error of less than
1 per thousand). This is the right concept of convergence in Communication Systems and other
applications in the technical sciences. Unfortunately, most students are at this level still most
familiar with the pointwise convergence, in spite of the fact that this concept in practice often
is very awkward. It will below be demonstrated that the inaccuracy by the various pointwise
approximations are bigger than the approximation in energy. ¢

We have found the approximation

Q(t) = Q(t;x0,v0) =

33(20 —r?) - 6—2(12 — 7H)t? ~ 0.980 162 — 0.417 698>
s s
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of cost. The corresponding approximation by a Taylor polynomial is

Ift = :I:g7 then cost =0, and

s 72 8 — 72

P (ﬁ:—) -1 ~ —0.233701,
2\ T2 8 8
and
T 3 9 60 g T2
Q+3) = HE0-=)-F02-7 T
1 1272 — 120
= F{60 — 372 — 180 + 1572} = —
12(r% -1
- (”—30) ~ —0.050 465.
T

It is seen by comparison that the approximation in energy also gives a better pointwise result than
the Taylor polynomial.

Example 1.12 Consider the function
f(z,y) = 323 + 62y* + 4y — 922, (z,y) € A,
where A is given in the following way: We remove from the ellipsoidal disc given by x° +2y* —3x < 0

those points which also satisfy y < —57 Sketch A and then find the maximum and the minimum of

the function.
A Maximum and minimum for a continuous function in a closed and bounded domain.

D Sketch the set A. Then refer to the second main theorem for continuous functions. Find the
stationary points and examine the boundary points.

I Clearly, f(z,v) is of class C°°, even as a function in all of R?. Hence there are no exception points.
We first identify the ellipsoidal disc by the following rearrangement

3 3\? 3\?
02z2+2y2—3x—{x2—2-§x+(§> }—|—2y2—<§) ,

hence

2 2
3 3
_= < |2

or in the usual normed form
2

3 2
P
32 + —g <1
2 2v2
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Figure 14: The closed set A lies above the line and inside the ellipse.

It follows that the inequality describes a closed ellipsoidal disc of centrum <2, 0> and of the half
3

3
axes a = — and b = ——.

2 2v/2

1
The domain A is the intersection of the closed ellipsoidal disc and the closed half plane y > — 3 x,

i.e. that part of the ellipsoidal disc which lies above the line. It follows that A is closed and
bounded.

According to the second main theorem for continuous functions, f has a maximum and a minimum
in A. Since f is of class C'°°, these are among the values of the function at either the stationary
points in the interior of A or at the points of the boundary.

1
First notice that the line y = —5 x intersects the ellipse in two points given by

2 3 3

2092 _3p=a219. Y 3,242 3,2

O=2"+2y" —3x=2a"+ 1 3x 2 z° — 3z 5
hence x = 0 and = = 2, corresponding to the points (0,0) and (2, —1).

x(x — 2),

1) STATIONARY POINTS. The equations of the stationary points are

or _ 922 + 6y? — 18z = 0,
ox
g—; = 122y +12y° = 12(z +y)y = 0.

The line « + y = 0 does not intersect the interior of A, so we only get the possibility y = 0. If
we put this into the former equation we get

0=92>+0— 18z = 9z(x — 2),

hence z = 0 or = 2, corresponding to the stationary points (0,0) and (2,0). Only (2,0) lies
in A. Then compute the value of the function at this point,

f(2,00=3-2°+0+0-9-2 =24 36 = —12.
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2) EXAMINATION OF THE BOUNDARY. The boundary is split into three obvious parts:

a) y=—-x,for 0 <z <2andy <0,
)
b) y=— 3I2$,f0r2§z§3andy<0,
3 2
) y=+ x2x,for0§x§3andy>0

Notice that if (z,y) lies on the (boundary of the) ellipse, then
f(z,y) = 32> + 62y + 4y® — 92% = 32{2? + 2% — 32} + 4y° = 4y°,
which is a trick that will help us a lot in the following.

1
a) The restriction of f(z,y) toy = 5% 0<z<2is

1 2 3
plz) = f<x,§x)3x3+6x-%4'%9z2
3,3 3 1 3 2 3 2
= 3z Jrixfix —92° =4x° — 927, for 0 <z <2
where
3
<p’(x):12332—18m:12m(x—§>, 0<z<2.

3 3
In the open interval we get ¢'(x) =0 for x = 2’ corresponding to y = T and

3 3 3 27 9 27 81 27
*0<5)—f<5v‘z>—4'§‘9'1—7‘z—‘z

At the end points of the interval,
©(0) = f(0,0) =00g p(2) = f(2,-1)=4-8—9-4=—4.
b) On the ellipsoidal boundary of A we reduce f(x,y) to
fla,y) =4y,

It follows geometrically (consider the figure) that the maximum on this part of the boundary
is

(CENRUEN
272V/2 2V/2 442’
and the minimum is

f(zv _1) =—4.

¢) NUMERICAL COMPARISON. We shall now find the maximum and the minimum among the
values of the function,

reo =12 f(5-7)=-F.  s00-0
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F2—1) = -4, f(3 3) 27

22v2) e

thus the maximum is

s-r(3.5)- 2
p 27 2\/§ 4\/5/
and the minimum is

£(2,0) = —12.
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Example 1.13 Ezxplain why the function given by
flayy) =ay?, (z,y) € K((0,0);1),
has both a maximum and a minimum, and find these values.

A Maximum and minimum.

D A continuous function on a closed, bounded set. Find the possible stationary points and examine
the points of the boundary.

Figure 15: The graph of f(z,y) over K((0,0);1).

I Since f(z,y) is continuous (even of class C°), and K (0;1) is closed and bounded, it follows from
the second main theorem for continuous functions that f has both a maximum and a minimum in
K(0;1). These are either attained at a stationary point or at a boundary point.

Since
of _ o of _
9 Y and 3y 2zy

are 0 for y = 0, i.e. on the X axis, the set of stationary points is [—1,1] x {0}. The value of f(z,y)
is here trivially f(z,0) = 0.

We use on the boundary the parametric description (x,y) = (cost,sint), t € [0,2x], thus the
restriction to the boundary is given by

©(t) = f(cost,sint) = cost - sin’t, t €[0,2n],
with the derivative
’ - .. 3 . 3, 2 .92 e 2
©'(t) = —sin®t + 2sint - cos® t = sint - (2cos”t —sin“t) = sint(3cos”t — 1).

1 2
This expression is 0 for ¢t = 0, 7, or for cost = +——, corresponding to sin®t = 3" When we put

V3

t =0, m, we get the value 0 of the function.
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If we insert cost = + L. 2t 2 t
we insert cost = +——, sin“t = —, we ge
V3 3 8
1 2
cost,sint) = +—— - =,
hence
f 1 :I:\/§ th 1
—, - =—= is the maximum value
V3 V3 V3
and

Example 1.14 The function f : RZ2 — R is given by
fla,y) = @ +y* = 1)(@® +y° —4).

1) Find the set of stationary points for f.

2) Show that f has a proper extremum at (0,0), and indicate the type of this extremum.

3) Find the largest value which is attained by f in the disc

D={(z,y) €eR*| (z —2)* +y* < 4}.

A Extremum.

D An alternative solution is to rewrite this problem as a 1-dimensional problem. Exploit this idea to
solve as much of the problem as possible. Then compute the problem as indicated in the text.

i «‘/,’,q 5 ‘\%m
\\\\\‘éﬁfll"’

~.»,,,,,lﬁ~)0““¢"‘iifi[

Ui mﬁ‘"
s RN //

Figure 16: The surface 2z = (2% + y? — 1)(2% + y* — 4) over D.
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I The problem is actually 1-dimensional, because by switching to polar coordinates,
f(x,y) = flocosp, osinp) = (0° = 1)(0® —4) = 0" = 50> +4=9g(0), 020,

and

5
g'(0) = 40> — 100 = 4p (@2 — 5)

5 5
is 0 for o = 0 and for o = —|—\/;. Furthermore, g(p) is decreasing for 0 < ¢ < \/; and increasing

5
f —.
or@>\/g

In particular, (0,0) which corresponds to ¢ = 0 is a local maximum point of the value of the
function

£(0,0) = 4.

5
We get the minimum for o = \/; , corresponding to the value of the function

() o669

Since D contains both (0,0) and (4,0) on the X axis, cf. the figure, the maximum value is one of

Figure 17: The domain D and the zero curves 22 + y? = 1 and 22 + y? = 4 for f(x,y).

the values g(0) and g(4). We conclude from
F(4,0) = g(4) = (16 — 1)(16 — 4) = 15 - 12 = 180 > 4 = £(0,0),

that f(4,0) = 180 is the maximum value in D.

S
2 2 _ Y
x+y2}.

Finally, the stationary points are necessarily (0,0) and {(x, Y)

Now, return to the very beginning, and handle the example according to the original intention.
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1) The stationary points are the solutions of the equations

or _ 22 (22 +y? —4)+2x(2 +y* —1) = 4a x2+y2—§ =0,
oz 2

or _ 2,2 2.2 1y _ 2,2 9\ _
9y~ 2y(x+y —4)+F2y(z°+y“—1) =4y | z°+y 5) = 0.

We conclude that the stationary points are

{w)

2) Tt follows from f(x,y) = g(0) = (1 — 0*)(4 — 0°) that g(o) is increasing when ¢ — 0, hence
(0,0) is a maximum.

22 492 = g} U {(0,0)}.
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ALTERNATIVELY,
0% f 9 5 O 9 5
W:él(x —I—y—i + 8z7, r=4- —5 = —10,
0% f
=38 =0
0xdy Y ST
O f a2 2= 2) 48y t=4 > 10
— = x — — = . —_— = —
042 v -3 y?, 5 :
so rt —s? =100 > 0, and r < 0, t < 0, corresponding to that (0,0) is a maximum point.
3) Since

5 5 9 5
—(2-1)(2-4) ==  fora?4e2="2
f(z,y) <2 ><2 > 1 or 2% +y% = 2,

only the examination of the boundary remains. A parametric description of the boundary curve
of D is

(z,y) = (2+ 2cost,2sint) = 2(1 + cost,sint), t € [0,2n],
where
2® +y? =4(1+2cost+cos’t +sin’t) = 8(1 + cost).

The restriction h(t) to the boundary curve is given by
h(t) = f(2(1+4cost),2sint) = {8(1 + cost) — 1}{8(1 + cost) — 4}
= 4(7+8cost)(1+2cost) =4(7+22cost + 16cos? t),

where

B (t) = —4sint(22 + 32 cost),

11
which is only 0, when either ¢t =0 or { = 7 or cost = T We get by insertion

h(0) = f(4,0) =4(7+22+16) = 4- 45 = 180,
h(r) = £(0,0)=4(7 — 22+ 16) = 4,

and
11 11 11\?
= —4 29, == 16- [ ——=
h(arccos( 16)) <7+ ( 16>+ 6 ( 16) )

112 112 121 112 — 121 9
_4<7_2'E+1_6> —4(7‘1—6>—4<T> =

A numerical comparison gives that
f(4,0) =180

is the maximum value in D.
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Example 1.15 Given the function
fla,y) =ayexp(y—a?),  (z,y) R
1) Find the stationary points of f.
2) Ezplain why f has both a mazimum and a minimum in
A={(z,y)|2* -3 <y <0},
and find the values of the function at these points.
3) Check if f has a global mazimum and a global minimum in R2.
A Maximum and minimum.

D Find the stationary points and sketch A.

Figure 18: The graph of f(z,y) over A.

I 1) The function is of class C*°, and the partial derivatives are

% - yeXp(y_xz)—Qnyexp(y_xQ):y(1_2x2) exp(y_l_z)7
(Z—;Jz/t = xexp(y—xQ)—l-xyeXp(y_xQ):x(1+y)exp(y_m2).

The exponential is never zero, so these two expressions are both equal to zero, if and only if
y(1—22%) =0 and z(1+y)=0.

If x = 0, the latter equation is fulfilled, and it follows from the former equation that y = 0.
If y = —1, the latter equation is again satisfied. It follows from the former equation that

r=+—.
V2

Thus the possible stationary points are

0,0), <%,—1> and (_%,_1)

Here (0,0) lies on the boundary, so it will also enter the analysis of the boundary points.
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Figure 19: The domain A.

2) Since f is continuous and A is closed and bounded, it follows from the second main theorem
for continuous functions that f has a maximum and a minimum in A. These points are either
an inner stationary point or a boundary point. The inner stationary points are

() = ()

with the values of the function

O

and

)=
V2’ V2e3
On the boundary curve y = 0, —v/3 < = < V/3,
f(z,0)=0.
On the boundary curve y = 22 — 3, —v/3 < 2 < v/3, we have the restriction
olz)=f (x,xz -3) = z(z? — 3) exp(z? — 3 — 2?) = (2 — 3x)e 3
with
¢ (x) = 3(z* — 1)e~3.
We have already checked the end points z = ++/3, so it only remains to compute
() =(1—3)e 2 =-2e"3 and ¢(—1)=2e"">

The maximum value and the minimum value are among
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fL-2)=-3, f-19) =3,

hence

3) We get along the curve y = z2,

U(2) = flo,2?) = 2,

which clearly has neither a maximum value nor a minimum value in R?, because the range is
all of R.
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Example 1.16 1) Sketch the set
B={(z,y) eR*|2>0,0<y<1-2z},
and explain why the function f(x,y) = xy has both a maximum S and a minimum value M on B.

2) Find S and M.

A Maximum value and minimum value.

D Solve the problem geometrically.

0.8

0.4

0.24

-02]

Figure 20: The domain B.

I 1) Theset B is closed and bounded, and f is continuous. By the second main theorem for continuous
functions, f has a maximum and a minimum on B.

2) Clearly, f(z,y) > 0 pa B, and the minimum value M = 0 must be attained on the axes.

Since f(x,y) = C on the hyperbola xy = C, we conclude from considering the set of curves
that the maximum value must be attained on the line y = 1 —2x. Then consider the restriction

g(z) = f(z,1 —2x) =z — 222, T € [0, %] ,

of f to this boundary curve. First we vet ¢'(x) = 1 — 4x, which corresponds to a maximum for
1

xr = i.e.

Za

1 11 1
5‘9(1>f<1’5>§'

REMARK. An alternative way is of course to realize that (0,0) is the only candidate of a
stationary point. Since f is 0 on the axes, only the examination of the boundary line y = 1 —2x
remains, and this was done above.
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Example 1.17 Given the function
fla,y) = 322y — 202°y — xy?,

1) Find the stationary points of f.

(x,y) € R2.

2) Check for each of the points (1,2), (1,1) and (0,0), if f has an extremum at the given point.

3) Find the range of the function f.

A Extremum.

D Follow the guidelines.

77777
=)/
=

'00Z$‘I

Figure 21: Part of the graph of f.

I 1) The stationary points are the solutions of the equations

of
ox

= 64xy — 602%y — 3> = y(64z — 6022 — y?) =0,

)
of _ 3222 — 202 — 3ay® = x(32x — 2022 — 3y?) = 0.

oy

a) If x = 0, then the latter equation is fulfilled, and we obtain y = 0 from the first, so (0,0) is

a stationary point.

b) If y = 0, then the former equation is fulfilled, and the latter equation gives either = 0 or

8 8
T = 3 Thus we get another stationary point (S’ O).

¢) If both & # 0 and y # 0, the equations are reduced to

y? = 64z — 602>

By elimination of vy,

and 3y? = 32z — 2022

32z — 2022 = 3y = 192z — 18022,

from which we get the necessary condition

0 = 1602 — 160z = 160x(z — 1).

77
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Since x # 0, we only get the possibility of x = 1.

If we put = 1 into the original equations (i.e. we test our possible solution), then
y4—y*)=0 and 12-3y*=3(4—9%) =0,

which are both satisfies for y = 2.

Summarizing, the stationary points are
8
(0,0), (g,O) , (1,2), (1,-2).

2) EXAMINATION OF THE EXTREMA.

a) Since (1,1) is not a stationary point, it cannot be an extremum.

0051 1 2

Figure 22: The function f(z,y) changes its sign, whenever one crosses either one of the axes or the

ellipse.

b) The point (0,0) is not an extremum.
First variant. By an analysis of the sign of the function, cf. the figure,
flz,y) = 322%y —202%y — 29 = ay {32z — 20z% — y2} =

_ 64 2 A
- 3 16\" 5 61?

we see that f is both positive and negative in any neighbourhood of (0,0), and we have
no extremum.
Second variant. If we take the restriction of f(z,y) to the line y = z, it follows, that

o(x) = f(x,x) = 322° — 212* = 2® (32 — 21x)

is both positive and negative in any neighbourhood of (0,0), and we cannot have an
extremum.
¢) When we check (1,2), we have many methods at hand. We shall here restrict ourselves to
two. First note that (1,2) is in fact a stationary point, so it is possible that we have an
extremum at the point.
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First variant. Approximating polynomial of at most degree two from (1,2).

If we put

r=xz1+1 and y=1y + 2,

and neglect terms of higher order than 2 in (z1,y1) (symbolized by dots), we get

f(xay) -

3222y — 2023y — ay®

32(21+1)%(y1+2)2—20(z1 +1)3 (y1 +2) — (z1+1) (y1 +2)3

32(23 +2x1 +1)(y1 +2) —20(1+321 +323- - ) (y1+2)

—~(z1+1)(8+12y1 + 6y +-- )

32(24-4x1 +222 4y + 2z y1 +- - - ) —20(24621 +622 441 + 3151+ - - )

—(8+12y; +6y; +8x1 +1271y1 +- - - )
(64—40— 8)+(128—120—8)z; +(32—20—12)y,

H64—120)22 +(64—60— 12)x1 9, —6y> +- - -
16 — 5627 — 8x1y1 — 6y? + - -

2
160 2
16— —= x§—6<§x1+y1) +,

proving that we have a local maximum for (z1,y1) = (0,0), i.e. for (z,y) = (1,2).
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Second variant. The (r, s, t)-method.
First compute

0% f
Frcie 64y —120zy,

At the point (1,2),

>’f 2 a2 O2f
9xdy 64x—60x° —3y~, 8—y2 = —6xy.

=128 — 240 = —112, s=-8,  t=12,
hence
r <0, t<0 og 7rt>s>
It follows by the (r, s,t)-method that there is a proper maximum at the point (1,2).
3) The range is R.
We have e.g.
f(z,2) = 322% — 212* — —o00 for  — 400,
and
fz,—z) = =322% + 212* — 400 for & — +o0,

and the rest follows from that f(x,y) is continuous.

Example 1.18 Given the function
fa,y) = (@ +y?)exp(=22%),  (z,y) € R
1) Find the stationary points.

2) Explain why [ has both a mazimum S and a minimum M on the closed triangle with the vertices
(0,—-1), (0,1) and (2,0); then find S and M.

3) Show that f does not have a (global) mazimum in R2.
A Stationary points. Maximum and minimum.
D Follow the guidelines.

I 1) The stationary points are the solutions of

g = exp (—22%) — da(z + y?) exp (—22°) = (1 — 42® — day?) exp(—227) = 0,
x
and

g—; = 2y exp (—29:2) =0.

We get from the latter equation that y = 0, which by insertion into the former one gives

1
1—422=0,ie z= :|:§. The stationary points are

() = ()
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Figure 23: The graph of f over the triangle D.

0.5

0.5
x

05

-1

Figure 24: The domain D.

2) The triangle D is closed and bounded, and f is continuous on D. Hence, by the second main
theorem for continuous functions, both S and M exist on D. These values are either attained

1
at the stationary point (—, 0) € D or on the boundary 9D.

From f(x,y) > 0in D and f(0,0) = 0 with (0,0) € D follows that

M = f(0,0) = 0.
When z is fixed, we see that f(z,y) is largest in D, when y = =+ (1 — E) This excludes

( 2,0), and the maximum must be attained on the line

X
—+ (1 - f) .
4 2
The restriction of f to this line is
X LE2
ola)=f (a2 (1-3)) = (1 + 4) exp (~22%), @ €0,2],
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with the derivative
x x?
o(r) = 5 exp (—22%) — 4o (1 + Z) exp (—227)
= ; exp (—22%) - {-7—22%} <0, z€0,2)].
Hence the maximum value is attained for x = 0, corresponding to

3) Since f(0,y) = y?, it follows that f does not have a global maximum in R2.

Example 1.19 Given the function
flay)=(z+y)* +2co8(2x+y),  (v,y) ER®.
1) Find the stationary points of f; check if f has proper extrema.

2) Let A be the point set
{(Iay)€R2|0§xSﬂ'7 721’§y§7x}

Prove that f has no stationary points in the interior of A.

Explain why f has both a mazimum S and a minimum M on A, and find S and M.
3) Find the range f(R?) of f.
A Extrema.

D Follow the guidelines

Figure 25: The graph of f the point set A.

I 1) The stationary points are the solutions of the equation 7 f = 0, i.e.

of . -~
i 2(x +y) —4sin(2z +y) =0,
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of
Ay
Tt follows that sin(2x +y) =0 and z +y = 0, so

=2(z+y) —2sin(2x +y) = 0.

sin(2x + y) = sin(z + (x + y)) = sina = 0.

Accordingly, x = pm, p € Z, and y = —z. Thus the stationary points are
{(pm,—pm) | p € Z}.

The values of the function in these points are

2 for p even
— = = (=1)P = '
flpm, —pm) = 2cospm = 2 (—1) { —2  for p odd.

The extrema are now found by the (7, s, t)-method.
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From
0% f
= 2 —8cos(2x +y) = 2 — 8cos(x + (x + y)),
_32f =2—4cos(2r +y) =2 —4cos(z + (z +y))
910y e o
0% f
o 2 — 2cos(2z +y) = 2 — 2cos(z + (z +y)),
follows that
o2 f —6  for p even
— __ 7 — = — —1)P = '
Tp = 922 (pm, —pm) =2 —8(-1) { 10 for p odd,
92 f » —2  for p even,
Sp = 920y (pm,—pm) =2 —4(-1)F = { 6 for p odd,
O f 0 for p even
— _ 7 — = — —1)P = ’
tp = ayz (p7T7 pﬂ-) 2 2< 1) { 4 for p odd.

If p is even, then

and we have no extremum.
If p is odd, then
rp =10, t, =4, ry-t,=40>36=s,

and we have a proper minimum for p odd.

x
05 1 15 2 25 3
[ S SO U S SR S0

-1

-3

-6

Figure 26: The domain A.

2) It follows from the figure that (0,0) and (m, —m) are the only stationary points in A, and they
both lie on the boundary of A.

Since f(x,y) is continuous on the closed and bounded set A, it follows from the second main
theorem for continuous functions that f(z,y) has both a maximum and a minimum in A.
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As proved above, the interior A° does not contain any stationary point, so the maximum and
the minimum must be attained on the boundary of A.

EXAMINATION OF THE BOUNDARY.

a) If y = —x, 0 <z <, then the restriction is
flz,—x) = 2cosz.

This has its maximum f(0,0) = 2 and its minimum f(7, —7) = —2.
b) If y = —2z, 0 < 2 < 7, then the restriction is

fz,—22) = 2% 4 2cos 0 =z + 2.

This has its maximum value f(7, —27) = 72 + 2 and its minimum value f(0,0) = 2.
¢) f £ =, =27 <y < —m, then the restriction is

f(my) = (m4+y)* +2cos(2m +y) = (7 +y)*> +2cosy
with
f;(ﬂ'vy) =2(r+y)—2siny = 2{7m +y —siny},

£ () = 2{1 — cosy} > 0,

so f, (m,y) is increasing in y. From f, (7, —m) = 0 follows that f; (7,y) < 0fory € [-2m, —7[.
Since f(m,—m) = 0+2cosm = —2 and f(7, —27) = 72 +2, these two values are respectively
the minimum and the maximum.
Summarizing,

S = f(m,—27m) = n* 4 2, M = f(r,—7) = =2.

d) Clearly, f(z,0) — 400 for  — +o0, and f(x,y) > —2, so the range is contained in
[—2, 400l

Since
f(@n+)m, —2n+ 1)) = =2, n ez,

and f is continuous on the connected set R2, it follows from the first main theorem of
continuous functions that the range is connected, so

f(R?) = [=2, +oo].
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Example 1.20 Given the function

4
fla,y) = gxg—xy“ry, (z,y) € R*.

1) Find the stationary points. Check for each of them if we have an extremum.
2) Find the mazimum and the minimum of the function in the square A = [0,1] x [0, 1].

A Extrema and maximum and minimum.

D Check the stationary points and the boundary points.

Figure 27: The graph of f over A =[0,1] x [0,1].

I 1) The stationary points are the solutions of the equations

of 2 9

= =dz® —y? =2z —y)(2 =
5 5=y (22 —y)(2z +y) =0,
%:—2xy—|—1:0, ie. 2zy=1.
dy

1
a) If y = 2z, then 1 = 2xy = 422, hence x = :|:§. In this case the stationary points are

(21) o (2)

b) If y = —2x, then 1 = 2xy = —422, which is not fulfilled for any real x.

1 1
Thus the stationary points are <§, 1) and (—5, —1>.

EXAMINATION FOR EXTREMA.
First method. The (r,s,t)-method. It follows from

o*f 0% f 0% f

a2
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that
92f 92f )
U a— £
2 y2 62~ <0, or x #£ 0,

and we conclude that we have no extremum.

Second method. We shall find the approximating polynomial Ps(x,y) of at most second
degree in the neighbourhood of the stationary points.

1 1
a) In the neighbourhood of (5, 1> we put x = 3 + ¢ and y = 1+ 7. Then by insertion,

3
flxy) = éx:”—mfﬂj:g(%ﬂ%) —<%+§>(1+n)2+1+n

3
_ (L3 32 ) (L 2
= 3<8+4§+2§ +£) (2+£>(1+2n+n)+1+n

1 4 1 1
: 9062123 _ 2 S02 e 9em_en2a]
6+€+ § +3€ 5 ~N—3" §—26n—En"+1+n

11 1
1— -4+ +282—2tnp— 0 4 ---
( 2+6>+§ &n—5n° +

2
2 1
= Z49(e—-Z —_n? ...
3+ («S 2?7) note,
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1 1
and we see that f(z,y) in any neighbourhood of (5, 1> attains both values > f (5, 1> =

2 1 2
3 and values < f (5, 1) =3 so there is no extremum.

1 1
b) In the neighbourhood of 3 —1) we put instead x = 5~ ¢ and y = —1 —n. Then

by analogous calculations as above,
9 2
f(fcyy)=———2(§——n) REUEE

1
and we conclude that (—5, —1> is not an extremum.

2) Now f is continuous on the closed and bounded set A, hence it follows from the second main
theorem for continuous functions that f has both a maximum and a minimum in A. Since f is
of class C'*° with no extremum at the stationary points, the maximum and the minimum must

be attained at boundary points.
EXAMINATION OF THE BOUNDARY.
a) If y=0and 0 <z <1, then the restriction

4 3

fao)=ga'  welo,

4
has its minimum f(0,0) = 0 and its maximum f(1,0) = 3"
b) If z =0 and 0 < y < 1, then the restriction

f(0,y) =y, y €[0,1],

has its minimum f(0,0) = 0 and its maximum f(0,1) = 1.
¢) f =1 and 0 <y <1, then the restriction

FE AR U A
1Y) T2 Vs

4 1 19
has its minimum f(1,0) = f(1,1) = 3 and its maximum f (1, 5) =13

4
Ly =5 -y +y=

[SUNRNIEN

d) If y =1 and 0 < z < 1, then the restriction is
4 3
fa 1) =30~z +1,
where

fi(z,1) =42 -1=0  forz= - €][0,1].

N —

Thus we have the possibilities

o=t f(z1)=3 san-;
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1 2
and we see that this restriction has its minimum f <§, 1> =3 and its maximum

4

f(]-v]-) = g

Summarizing, we get by a numerical comparison that f(0,0) = 0 is the minimum, and

1 1
f (1, —) = 19 is the maximum in A.
2 12

Example 1.21 Ezplain why the function

f(x,y)=2y x(l_x)_yga (a:,y)e |:i’§:| X [0,3],

has both a maximum S and a minimum M.
Find these values as well as the range of the function.

A Maximum and minimum.

D Use the standard method.

Figure 28: The graph of f. Notice the different scales on the axes.

I Since f(z,y) is continuous and A is closed and bounded, it follows from the second main theorem
for continuous functions that f has both a maximum and a minimum in A. Since f is of class
C* in the interior of the domain, these values are either obtained at a stationary point or at a
boundary point.

The stationary points are the solutions of the equations

of y(l—-2x) of _ N9,
%7435(1—%)70 og 8y72 z(l—x)—2y=0.

1
The former equation implies the possibilities of y = 0 or x = 3 If y = 0, we consider only the

boundary of A. Furthermore, ? # 0 in A on that line.
Y
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1
If x = 3 then

of 11
=S 2y =1-2y=0
9y 5 52 y=0,

1 11
thus y = 3 and the stationary point is (—7 —) € A. The value of the function is here

2°2

YA
2°2) 2 4 4

THE BOUNDARY POINTS

1) Ify=0and - <z <

e i =

2) Ify=3and - <z <

f(x,3)=6/x(1—2)—9=6 %—(m—1>2—9.

2

1
We get the maximum for z = 3

1 6
f(§,3> =5 -9=-6.

1
and the minimum for x = 1 and x = §7 where

1 3 V3 3v3

1
3) Ifx = 1 or x = %, and 0 <y < 3, then the restriction is

1 3 3 3 V3
f(z,y> =f (ly) =2y\/;-y2 =15 (y— T

and we get the maximum for y =

1 V3 3 V3) _ 3
f(lT) :f<Z’T>:1_6’

and the minimum for y = 3,

1 3 V3 3V3

, then the restriction is given by

, then the restriction degenerates to f(x,0) = 0.

90
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By a numerical comparison of the candidate above we conclude that the maximum is

11 1
f(m):z’

and similarly the minimum,

1 3 3v3
-3 )= -3 =—-9.
1(5) =2 (59) 5
Since f is continuous and the domain is connected we conclude from the first main theorem for
continuous functions that the range is

3V3 1
M,S]=|— -9, =
8= |20,
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Example 1.22 Given the function

flz,y) = (x+y)* (8- (" + 7)),

(x,y) € R2.

1) Find the set of stationary points for f.

2) Ezxplain why [ has both a mazximum and a minimum in the set

A={(z,y) e R? | 2? +y* <9},

and find those values.

3) Check if f has a mazimum and a minimum on the set

B ={(z,y) e R? | 2> +4? < 16},

and find the range f(B).

A Stationary points; maximum and minimum.

D Use the standard method.

Il’ ’
\ '.!7.777/7///'{""9@“ RN
Ni#4/2 "‘ “')»1 \‘
N4
T
Sl

-

Figure 29: The graph of f over the set A.

I 1) The stationary points are the solutions of the equations

ox

of _ 2z +y) {8 — (22 +¢*)} — 22(x +y)?

= 2x+y {8-2>—(2P+ay+y*)} =0

of
oy

The obvious solution is x 4+ y = 0. The other possibility is

20a+y) {8—y* — (@ +ay+y°)} =0.

2® + (2 + 2y?) =8 =y* + (27 + 2p”),

so y = +2. We have already found y = —z, so let y = 2. Then 422 = 8, hence z = y = ++/2.

Summarizing, the stationary points are

{(z,~2) |z e R}U{(V2,V2)} U{(-V2,—V2)}.
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Calculus 2c-4 Maximum and Minimum

2) The function f is continuous on the closed and bounded set A, so f has a maximum and a
minimum according to the main theorem for continuous functions. These are either attained
at singular points or at boundary points.

a) If y = —x, then f(z,—2x)=0.
b) If (z,) = +£(v2,v2), then

F(EV2,£V2) =8 (8 —4) = 32

(same sign at both places).
c) If 22 +y?> =9, then 2 = 3cost and y = 3sint, t € [-m, 7|, so the restriction is

o(t) = f(x(t),y(t)) = 9(cost+sint)? - (8—9) = —18sin? (t—l—ﬁ) )

4
. . . ™ 3m . . .
and it follows that the maximum is 0 for t = 1 and t = R while the minimum is —18
for t = % and t = —??Tﬂ, i.e. for
3v2 3v2
(z,y) =+ (T’T) .

.
. .
A\
iy \‘.‘ <
27\
(27777 XX/ b
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FIRST CONTACT

Get matched to top business
employers via intelligent emails
landing in your inbox.

PLANET CAREER ADVICE Milkround.com: rated-the
Inhabited by insights into #1 graduate recruitment

business careers and orbited M=
by application advice. website in the UK Graduate

MILKROUND SYSTEM . ‘Careers Survey 2009 of

Become a business star with B e o : 16,000 university finalists.
internships, placements, k. AR 7

graduate jobs & schemes

from leading companies.

) " < ;
www.milkround.com . M I I I“‘ﬂ “ n [I
_ - ( H ]|

Download free books at BookBooN.com

93


http://bookboon.com/count/pdf/346352/93

Calculus 2c-4 Maximum and Minimum

Figure 30: The graph of f over the set B.

Summarizing, the maximum is
F(EV2,£V2) = 32 (same sign at both places),

and the minimum is

3 3
f (iZ V2, i§ \/§> =—18 (same sign at both places).

3) The set B contains the same stationary points as A. The boundary is here 22 + y? = 4% = 16.
If we put x = 4cost and y = 4sint, we get the restriction

o(t) = f(z(t), y(t)) = 16(cost-+sint)? - (—8) = —256 sin> (H—%) .

The maximum on the boundary is 0, and the minimum is —256. The boundary is disjoint from
B, so we shall never obtain the minimum, though the maximum in B is also

f(EV2,+£V2) = 32 (same sign in both cases).

The set B is connected, and f is continuous on B. It follows from the first main theorem for
continuous functions that the range is also connected. Finally, we conclude from the above
that

f(B) =] — 256,32].
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Calculus 2c-4

1
Example 1.23 Let B be the triangle of the vertices (5,()), (1,0) and (0,1). Let the function

f: B — R be given by

fla,y) =@ +y)(2z+y) +a,
1) Explain why f has a maximum S and a minimum M.

(z,y) € B.

2) Find S and M and the points in which these values are attained

A Maximum and minimum.
D Apply the second main theorem for continuous functions; find the stationary points and check the

boundary points.
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Figure 31: The graph of f over B.

Figure 32: The domain B.

I 1) Since f is a real C*°-function, and B is a closed and bounded domain, it follows from the second
main theorem for continuous functions that f has both a maximum and a minimum in B.

Since f is of class C'*°, the maximum and the minimum can only be attained at either a

stationary point or on the boundary of B.
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2) The possible stationary points are the solutions of the equations

foley) = 204+y+2@+y)+1l=42+3y+1=0,
folx,y) = 204+y+a+y=3cr+2y=0.
Clearly, (2, —3) is the only stationary point, and as it is in the fourth quadrant, it lies outside
B.

\
N
/ |
N
\
\
\
\
\
\3\1 -0 5 N\J. 152
\\ \\
. \
\
\
\
\
\

S

2

Figure 33: “Analysis of the sign” by means of the stationary point (2, —3). The value of the function
is < 1 in the angular spaces over the acute angles, and the value of the function is > 1 in the other

two angular spaces.

THE BOUNDARY POINTS.

1
a) If y=0,z ¢ [5, 1], then we get the restriction

4 8’

and it follows that the minimum and the maximum on this part of the boundary are

2
1 1
f(x,O):x-2m+x:2x2+x:2(x+—) - =

1 1
f <1,0> =3 and f(1,0) =3, respcetively.

b) fx+y=1,ie y=1—x, x €[0,1], then the restriction is
flz,l—z)=(z+1)+z=2c+1.
Clearly, the minimum and the maximum are on this part of the boundary

F(0,1)=1 og f(1,0)=3.

1
c) fy=2zx+1,z¢ [—5, O] , then we get the restriction

1\? 1
f(l'72$+1)—12I2+81‘+1—12($+§) -3

and the minimum and the maximum on this part of the boundary are

1 1 1
f(—§,+§):_§ 0g f(O,l)Zl.
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Finally, by a numerical comparison,

11 1

REMARK. If we translate the coordinate system to the stationary point, i.e. if we put
rp=r—-2 og y1=y+3,
then

f(z,y) = fi(zr, 1) = (21 +y1) 221 + 1) + 1

A geometrical consideration shows that the minimum must be attained on the line y = 2z + 1,

1
T € {—5, 0] , and the maximum on the line z + y = 1, in accordance with the results above. ¢

perceptive team players. Swedish
es through a forward-thinking culture where you’re

' e ‘ as and global trends.
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Calculus 2c-4 Ranges of Functions

2 Ranges of Functions
Example 2.1 Sketch the domain of the function

1
flzyy) =22 —22 -y + ——.
(2, 1) s
Then find the range of the function.
A Domain and range.

D First find the domain. Then find the possible stationary points and check the values of the function
on the boundary.

I The first term is defined (and > 0) for
0<2?—2? -y =1—(z—1)? —9?,
thus for
(x—1)2+y* <1,

This inequality represents a closed disc of centrum (1,0) and radius 1.

Figure 34: The domain D lies between the two circular arcs.

The second term is defined (and > 0) for
0<2y—a?—y?=1—2>—(y—1)72 dvs. 2° + (y —1)* < 1.
This inequality describes an open disc of centrum (0, 1) and radius 1.

The domain D is the intersection of these two discs. It is neither open nor closed, because one of
the boundary curves is contained in D, while the other is not.

Notice in particular that 0 <z < 1 and 0 < y < 1 for (z,y) € D.

STATIONARY POINTS. The function is of class C'*° in the interior D° of the domain. Therefore,
there are no exception points. The equations of the possible stationary points are

0 — of 1—xz n T
O \for—a® =y (V2y—a®—y?)?
0o = 9 __ y B l1—y

dy V2 —a2 =2 (V2y—a? — 23
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0
It was mentioned above that in particular 0 < 2 < 1 and 0 < y < 1 for (x,y) € D°, so 8_f >0
x

0
and 8—f < 0 everywhere in D°. The equations of the stationary points are not fulfilled in D°, so
Y

there does not exist any of them.

Clearly, f(x,y) — 400, when (x,y) tends to any point on that arc of 9D, which does not belong
to D. The set D is connected and f is continuous, so it follows from the first and the second main
theorem for continuous functions that f(D) = [a, +00[, where the value a is attained at a point of
the boundary which also lies in D, i.e. in 0D N D. Clearly, a is a minimum value.

The restriction of the function to 0D N D is
1

N = )

This value of the function is smallest, when 1—x2— (y—1)? is largest. This means that 2%+ (y—1)2,

which can be interpreted as the square of the distance from (0, 1) to (x,y) on the circular arc must

be as small as possible. A geometric consideration shows that this point lies on both the line

xr+y =1 and on the circle (z — 1)? + y? = 1, as well as in the first quadrant, hence the searched
point is

The minimum value a is the value of the function at this point.

flz,y) =0+ , (=14 =1,2>0,y>0.

IR ey )
1 1 1

\/17(\/571)2:\/17271+2\/§

1 2
\/1_2(1_E>

_ 1 V2v2+2  V2ve42 o [V2+d
o oV2v2-2 Vavee2 o 2 2

We conclude that the range is

F(D) = l#ﬁo@[: \/52+17+oo
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Example 2.2 Let
f(z,y) = —2xy* + 42 + y* — 2z, (z,y) € A.
Find the range of the function in the following cases:
1) The domain A is the closed half ellipsoidal disc given by

4x2+y2§1 and x> 0.

2) The domain A is the open half ellipsoidal disc given by

42 +y? <1 and x> 0.

3) The domain A is the whole plane.
A Maximum and minimum; range.

D From f € C° follows that there are no exception point. The set A is connected in all three cases
and the function is continuous, so the range is again connected, according to the first main theorem
for continuous functions, hence an interval. We can in the three cases apply the following methods:

1) Since A is closed and bounded, we can apply the second main theorem, hence the maximum
and minimum exist and they are attained at either a stationary point or at a boundary point.

2) Here A is bounded and open. The closure was treated in 1), so we can derive the range from
1).

3) In this case A is unbounded. We argue on the term of highest degree.

I The equations of the possible stationary points in the plane are

ﬁ = —2°+8x—-2=0,
ox

From the latter equation we get the possibilities

1
a)y=0 and b)x:§.
Thus:
af 1 1 . . .
a) If y =0, then Fr 0 for x = T SO 7 0 ) is a stationary point for f.

1 0 1 1
b) If z = 3 then 8_f =-2y24+4—-2=0fory = =1, so (5, 1) and (5, —1) are stationary
x

points for f.

Summarizing, the stationary points for f in the plane are

G0 G G

Of these, only the first one lies in the half ellipsoidal disc of the first two questions.
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05

020 02 04|06

1) If A= {(z,y) | 42% + 3% <1 and = > 0}, then in the stationary point of A,

1 1

1 1
S0)=04+4-—40-2--=-—
f(4’> MRRT 14

1

1

2 4

The boundary falls naturally into two pieces:

a) If z =0 and y € [—1, 1], we get the restriction
ey)=f0.y) =y  yel[-11],

with the minimum value

¢(0) = £(0,0) =0,
and the maximum value
e(1) = ¢(=1) = £(0,1) = f(0,-1) = 1.
b) If 422 +y*> =1 and z > 0, then y?> =1 — 422 and x € [O, %}, so we get the restriction
P(z) = flz,£V1—42?) = =2z(y® + 1) + (42® + )
= —20(1 42?2 +1)+1=82% -4z +1, xe[()?ﬂ’
with the derivative

V() =242 —4 =24 (a:2 — %) ,

which in the interval }O, is zero for z = . Hence

N =
| — |
5~
(@)

1 1 1 1 1 4 8
—, = = T :—27 2—— +1:1—7<0’
f(\/é \/3) f(\@ \/§> \/6< 6) 3v6
because (3\/6)2 =9.6 =054 < 8 = 64. At the end points,

1 8 4
+1)=1 — =—-———-+1=0.
FO.£) =1 and f(5.0)=F -5 1=0
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The maximum and minimum values shall be found among the value at the stationary point

and the values at the boundary points found above,

1

f(0,0)=0, f(0,£1)=1, f(§70> =0, f(%’i%>

Clearly, the mazimum value is
§=f(0,1)=f(0,-1) =1,

(both are boundary points). From
25-27 =262 —1>242—-82=16-32,

follows that

25 >32_64
16 ~ 27 54’
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SO
[25_5_ [64_ 8
16 4 54 36

and hence

1 1 8 5 1 1
f(%’iﬁ)_1_376”‘1—‘1—]‘(1’0)'

This shows that the minimum value is attained at the stationary point and that the value is

wer(ho) -t

The domain is connected, so it follows from the first main theorem that the range is also
connected, i.e.

F(A) = {_2,1} .

2) The closure of A was treated in 1), where the minimum value was attained at a stationary point,
in particular in an interior point, and where the maximum value is attained at a boundary point.
We therefore conclude that the range is

1
A)=|—-,1].
==
3) By restriction to the line y = z,
9(z) = f(z,2) = —22° + 52° — 2.

For large z the expression is dominated by —2x%, and as —22% — —oo for # — 400, and
—23 — +oo for z — —oo, and as the range is an interval (the first main theorem again), we
conclude that

F(A) =R.
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Example 2.3 Let
fz,y) = 323 + 49> + 6xy* — 922, (z,y) € A.

Find the range of the function in the following cases.

3
1) The domain A is the closed triangle of the vertices (0,0), (3,3) and (3, —§> item The domain
A is the interior of the point set of 1).

2) The domain A is the whole plane.

A Maximum and minimum; range.

D From f € C* (Rz) follows that there are no exception points. First find the stationary points in
the plane. Since A is connected in all three cases, it follows from the first main theorem that all
the ranges are intervals.

1) Since A is closed and bounded, and f is continuous, it follows from the second main theorem
that f has both a maximum and a minimum in A. These can only be attained at a stationary
point or at a boundary point.

2) Because A is the interior of the set of 1), we can apply the results from 1).

3) Consider e.g. the restriction of f to the line y = x.

The possible stationary points in the whole plane must satisfy the equations

9

or _ 92 4 6y — 182 = 0,

ox

)

a_f = 12¢y% + 122y = 12y(y + ) = 0.
Yy

It follows from the latter equation that either y = 0 or y = —z. We therefore get the following
possibilities:

1) If y = 0, then either = 0 or = 2, and the stationary points in this case are
(0,0) and (2,0).
2) If y = —x, then

6
O=15x2—18x=15x(x—5>,

which corresponds to the stationary points

(0,0) and (gg)

Summarizing, the stationary points in the plane are

0,0,  (2,0), (g_g)
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0.5 1 15 2 25

1) Tt follows from the figure that (2,0) is the only stationary point in A. The value is here
£(2,0)=3-8-9-4=—12.

THE BOUNDARY.

a) The restriction to y = x is
gl(l'):f(l',l'):13$3—91'2, US [073]a
with the derivative
6
gi(z) =392 —18=0  fora = +‘/E €0,3].

The candidates are

6 /6 6 6 6 6
22 s/ 2 2 9. 2 2613 —
f<V13’V13> Wi YT 3verB-9<o

because \/6-13—9:\/7_—9<\/8_—9:O, and
£(0,0) =0, f(3,3) =13-27 — 81 = 270.
b) The restriction to z = 3 is

g2(y) = 81 + 41y® + 18y* — 81 = 4y® + 18y

3
for y € [—5, 3] , with the derivative

3
gh(y) = 12y% + 36y = 12y(y +3) =0 fory=0¢ [2,3} .

The candidates are

3 3\° 3\ 2 27 9 54
f(3, 2) ( 2)+s(2) s 0= oo

f(3,00=0 and  f(3,3) = 270.
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1
¢) The restriction to y = 57 is
1\° 1 \?
g3(z) = 3x3+4<—§x> + 6x (—53“) — 922
2 1 . 3.
= 33— 5x5+§$579x2

= 4a% 922 for x € [0, 3],
with the derivative

gh(z) =122 — 18z = 12z (x - g) =0

for (x =0 and) z = g € [0,3]. The candidates are
3 2
3 3 3 9 3 4.27 81 27
/ ( 2" 4 ) ( 2 ) ( 2 ) 8 4 4’
3
£(0,0)=0 og f(?),g) =27
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Summarizing, all the candidates are
f(2,0) = —12,

(the stationary point), and

6 6 6 54 3 3 27

F0,00=0,  f(3,3) =270, f (3,—%) _o7,

(at boundary points).

By a numerical comparison we find the minimum value at a stationary point

M = f(2,0) = —12,
and the mazimum value at a boundary point,
S = f(3,3) = 270.
It follows from the first main theorem that the range is the interval

F(A) = [~12,270).

2) When we remove the boundary of 1), we also remove the maximum value from the range.
However, due to the continuity we can in A obtain values as close to 270 as we wish, so the

range becomes
f(A) = [—12,270].
3) The restriction to the line y = z is
g(x) = 132 — 92% = 2%(13x — 9), x e R
The range is clearly

f(A) =R,

Example 2.4 Let

flay) =c+y+ el -2 —y2 -3,  (z,y) €A
1) Find the domain of the function.
2) Find the range f(A).
A Domain and range.

D Sketch the set A. Consider the two main theorems of continuous functions.
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I 1) It follows from the rearrangement

flay) =z +y+ V[dz] —2® —y? =3 =z +y+ /1 (Jz| - 2)2 —y?
that the domain of f is the union of two closed discs,
A= F((Qa O)a 1) U F((_Q? 0>7 1)

This set is closed and bounded, but not connected, so we can only apply the second main
theorem. We conclude that f has has a maximum and a minimum of both of its connected
components.

2) The investigation is now split into the two cases of x > 0 and z < 0.
a) If z > 0, then

fy)=z+y+/1-(2—22—y2, (z-2°+y> <1

The equations of the stationary points are

of Tz —2 af Y

CAN =0, L=1- -0,

N S A AN R LT
hence

y=o-2=1- (@2 ¢,

soy >0 (and z > 2), and y = /1 — 2y?, thus

1—-2y% =4¢% or y:+%>0,
and x =2+ i
V3
In this connected component, the only stationary point is <2 + %, 13), corresponding

to the value
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The square root is 0 on the boundary, so we shall only find the maximum and the minimum
of £ + y on the boundary. A geometric analysis shows that the points must lie on the line

y = x — 2. The radius of the circle is 1, so we get the points

1 1 1 1
2__7__ 0, 2+—7_a
( V2 ﬁ) g( ﬁﬁ)
corresponding to the values
1 1 2 1 1
22— — —— ) =2——"—=2—-+2and 2+—,—>
(- 75v8) = 5 (24 75 7
It follows by a numerical comparison of
1 1 1 1
24—, —= | =2+ V3, (2—,—>—2¢§,
102+ 5 %5) v
1 1
24—, —= ) =2+ V2,
102+ 5 75)
that the range is
2 -v2,2+ V3]

ALTERNATIVELY the boundary is described by

x=2+cosf, y=sinb, 0 € [0, 27],

so the restriction becomes
g1(0) =4+ y+0=2+cosf +sind
with the derivative

91(0)

—sinf + cos = —v/2sin (0—%

).

which is 0 for 0 = % or for 0 = %T This gives us the candidates

1 1 T
f<2+ﬁ’ﬁ)_2+\/§ fOI‘QZZ,

1 1 o1
f<2_ﬁ’_ﬁ):2_\/§ f0r0:Z7

and formally (though not in reality)
g1(0) = g1(27) = £(3,0) =3 (<2++V2) for =0 and 0 = 2.

The range of the connected subregion is

2 -v?2,2+ V3.

=2+2.
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3) If z < 0, then

flay)=z+y+/1-(z+22—y2, (2422 +y> <1,

and the equations of the stationary points are

of

oz
of
dy

1

1

T+ 2
B V1—(z+2)2—y2
Y _
C1-@+22—y

:O,

The possible stationary points satisfy

y=r+2=+1-(z+2)?2-1220,

thus as before

1
y=+

V3

Hcalendar

=
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corresponding to the value

f<2+%,%)2+%+m2+\/§.

The investigation of the boundary is similar the the previous one (we have again two variants),
so we find the candidates

1 1 1 1
) B o 2,
( V2 \/§> ° ( ﬁﬁ)
of the corresponding values of the function
1 1 1 1
2 — ) =-2-V2 o —2+—,—)=—2+\/§.
1(=2-75-7) e (=24 575

We conclude by a numerical comparison that the maximum and the minimum values on this
connected component are

1 1
S:f<—2+ﬁ,—3):—2+\/§
and
L
vV2' V2

corresponding to the subinterval

(-2 - V2, -2+ V3]

M:f<—2 >:—2—\/§,

Summarizing, the range becomes
fA) =[-2-V2, -2+ V3]U[2 - v2,2+ V3],

which is the union of two closed intervals with no points in common.

Example 2.5 Find the range of the function
f(z,y,2) = zy + 22, 22 + % + 2% < d’.

A the range of a polynomial in three variables over a closed ball, i.e. a closed and bounded and
connected set.

D According to the second main theorem, f has a maximum value S and a minimum value M on
this set. Then the first main theorem implies that the range is connected, hence the interval
[M,S]. The maximum and the minimum values are either attained at a stationary point or
at a boundary point, because a polynomial does not have exceptional points. Therefore, find the
possible stationary points, and the examine the behaviour of the function on the boundary. Finally,
make a numerical comparison.
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I The equations of the possible stationary points are

of |, 0, O

=y = =z = =2z=0.
axy’ayx’(“)z :

Clearly, (0,0,0) is the only stationary point, and the value is here f(0,0,0) = 0.

We shall use spherical coordinates by the EXAMINATION OF THE BOUNDARY,

T = asinf cos p,
y=asinfsing,  where 6 € [0,7] and ¢ € [0, 27].
z=acosb,

By insertion we get the following restriction to the boundary

2

f(x,y,2) = wy+2*=a*sin®60cospsing + acos? f

2
% {sin2 6 sin 2¢ + 2 cos? 9}

2
a
5 {2 +sin*@(sin2p — 2)} .

These rearrangements show that f(x,y, z) is largest on the boundary (the sphere), when sin®# = 0,
and the corresponding maximum value is

52%2{2—1—0}:(12 (> 0).

Furthermore, f(z,v, z) is smallest on the boundary (the sphere), when sin? 6 = 1 and sin2p = —1,
which corresponds to the minimum value

a2

M:%Z{2+1-(—1—2)}=—7

Since the ball is connected and the function is continuous, it follows from the first main theorem
that the range is

=[],

REMARK. Since we shall not explicitly indicate where the maximum and the minimum values are
attained, we shall only argue instead of doing some heavy computations.. ¢
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Example 2.6 Given the function

f@,y,2)=vVe+y+Ve+2 -z —y—2, (z,y,2) € A.
1) Find the domain A and sketch it.
2) Ezplain why the function has both a mazimum value S and a minimum value M.
3) Find S and M and the points in which they are attained.
4) Find the range f(A) of the function.
A Domain, maximum and minimum and range.

D Use the standard methods and some symmetry arguments.

L VWA N
24 = ST 2

Figure 35: The domain A.

I 1) The function is defined (and continuous) for z > 0,y >0, z > 0 and z + y + z < 2, i.e. in the
closed tetrahedron

A={(z,9,2) |0<2<2,0<y<2—2,0<z<2—2—y}

shown on the figure.

2) Since A is closed and bounded, and f is continuous on A, it follows from the second main
theorem for continuous functions that f has both a maximum and a minimum on A.

Since f is of class C'*° in the interior of A, there are no exception points, so the maximum and
the minimum lie either in the interior stationary points or on the boundary.

Since A is connected, also f(A) is connected, due to the first main theorem for continuous
functions, and the range is the interval

f(A) = [M, 5],

cf. 4).
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3) The equations of the possible stationary points in the interior or A are

of 11 1 1 »

or 2z 2\2-x—y—z

of 11 11

dy 2y 2\2-z-y—=z
11 1 1

of 11 1 =0.

Since z, y, z > 0 and « + y + z < 2 in the interior of A we get

r=y=z=2-xz—y—2z (—2-—3x),

1 1 1 1
thusz =y =2= 3 > 0. The only stationary point in the interior of A is 375> 5), which
we intuitively could expect from the symmetry. The value of the function at this stationary

point is

1 1 1 1
f(5’5’5>:4\/;:m'
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THE BOUNDARY.

a) First consider the boundary surface B, which also lies in the (X, Y')-plane, i.e. where z = 0.
The restriction is given by

cp(x,y):f(x,y,O):\/EJr\/ng \/27137 ) (x,y)GB,
where
B={(z,y)|0<2<2,0<y<2—z}

This restriction ¢ is of class C°° in the interior of B, so it has a maximum and a minimum

Figure 36: The part of the boundary B in the (X,Y)-plane.

in B according to the second main theorem. It follows from the conditions of a (restricted)
stationary point

dp 11 1 1

that

O<z=y=2—-xz—y (=2—2x),

2
hence z =y = 3’ which corresponds to

(221300

This is the “stationary point” on the part of the boundary in the (X, Y')-plane.

There is a similar “examination of the boundary” connected with this part of the boundary.
If e.g. y = 0, we get the restriction

¢($):S@($70):f(1’70,0):\/5+ V2 -z, CEG[O,Q}-
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Using the symmetry we get ¢’(z) = 0 for x = 1, which corresponds to the candidate
P(1) = ¢(1,0) = f(1,0,0) = 2.

If instead x = 0, then similarly,
£(0,1,0) = 2.

The remaining boundary curve of the surface in the (X, Y')-plane lies on the line x +y = 2,
so the restriction becomes

n@)=p(@2-1)=vVr+v2-2, 2€[0,2]
which is identical with ¢(x) from above. Therefore we get the candidate

77(1) = 90(17 1) = f(lv 170) =2

b) It follows by the symmetry that we have analogous results in those parts of the boundary
surface which lie in the planes y = 0 and = = 0, respectively. We see that we have at the
same time examined the boundary curves of the remaining oblique part of the boundary
surface, so we are only missing the investigation of the “interior” of this remaining part of
the boundary surface.

c¢) The restriction to the “interior” of the oblique boundary surface lying in the plane z =
2 — x —y is given by

@(xay):f(xay72_$_y):\/§+\/§+ \/2_‘73_ s

where the domain of the parameter is the domain B in the (X, Y)-plane. Since we formally
have ©(x,y) = ¢(z,y) over the same domain, we can reuse the results from ¢, hence the

interesting point is 33 The value of the function is here

2 2 2 2 2 2 2
o(33)=7(333)=¢(53)-"%

As a CONCLUSION we have the following candidates of S and M:

Stationary point:

f(%éé):m (= VB).

Interior point on the boundary surfaces in x =0, y = 0, z = 0, respectively:

1(055)-r(505) (G 50)-

Interior point of the oblique part of the boundary surface lying in x +y + z = 2:

2 2 2

Interior points on the edges lying on one of the axes:

£(1,0,0) = f(0,1,0) = f(0,0,1) =2 (= V4).
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Interior points lying on one of the oblique edges:
F(1,1,0) = f(1,0,1) = f(0,1,1) =2 (= V/A).
The corners:
£(0,0,0) = £(2,0,0) = £(0,2,0) = £(0,0,2) = V2.
It follows by a numerical comparison that the maximum value is
S=f<%, % %) =22,
and the minimum value is
M = £(0,0,0) = f(2,0,0) = £(0,2,0) = £(0,0,2) = v2.

REMARK. Notice that the examination of the boundary which is here given in all details may
be quite large. In some cases one could have made a shortcut, but for pedagogical reasons we
have here only skipped trivial arguments of symmetry. ¢

Since A is connected and f is continuous, it follows from the first main theorem for continuous
functions that the range is the interval

f(A) = [V2,2v2].

Example 2.7 Given the function

fla,y) =exp (=2* —4°),  (x,y) € R

1) Show without differentiating that [ has a proper mazimum at (0,0).

2) Find the range of the function.

3) Show that f has both a maximum and a minimum on the set

A={(z,y) € R? | 222 + ¢ < 6},

and find these values.

A Maximum and minimum without differentiating.

D Analyze f(z,y).

I 1) Clearly, 2* +y? > 0, and we have only equality at (0,0). Since exp is strictly increasing, f must

2)

have a proper maximum at (0,0) where f(0,0) = 1.
Since z* 4+ y2 — 400 for 22 4+ 2 — +o00, and since exp is strictly increasing and continuous
where
exp (f (ac4 + y2)) — 0 for z? 4+ % — +oo0,
it follows that the range is ]0, 1].

Since A is a closed ellipsoidal disc (in particular a closed and bounded set), and since f is
continuous, it follows from the second main theorem for continuous functions that f has both a
maximum value and a minimum value on A. From (0,0) € A and 1) follow that the maximum
value is

S = £(0,0) = 1.
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Figure 37: The domain A.
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of the value f(z,y) = e~“. We shall therefore only find the largest C, for which we can find
an (x,y) on the curve, also lying in A.

Clearly, such a point (x,y) must lie in dA, so y?> = 6 — 222, Hence, the constant C' is the
maximum value of the function

@(m):x4+y2:x4—2x2+6:(x2—1)2+5 for x € [-V/3,V/3].
If we put t = 2% € [0, 3], it follows that we shall find the maximum value of
Y(t)=(t—-1)2+5  te]0,3].

The only possibilities are t =0, t = 1 and ¢t = 3. We get by insertion

and
¥(3) = p(EV3) =4+5=9=C,
and we conclude that the minimum value of f is

f(i\/ga 0) = e

Example 2.8 1) Find the domain A of the function

floy) = Vet Vy+v2-x—y,
and sketch A.

2) Ezplain why f has both a mazimum value and a minimum value on A.

3) Then find the mazimum value and the minimum value of f as well as the points in which they are
attained.

4) Finally, find the range f(A).
A Domain; maximum and minimum; range.
D Standard example.
I 1) The function is defined when
x>0, y>0 and z+y <2

i.e. in the closed triangle A with the corners (0,0), (2,0) and (0, 2).

2) Since A is closed and bounded, and f is continuous in A, it follows from the second main
theorem for continuous functions that f has both a maximum and a minimum in A.
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059

Figure 38: The domain A.

3) Since f € C*! in the interior of A, the maximum and the minimum can only be attained at
either a stationary point in A° or in a point on the boundary 0A.
The stationary points shall satisfy the equations

af 11 1 1 af 11 1 1

9 _ - -9, = — =0,
or  2+r 2.2-x—y dy 2y 22-x—y
hence \/z = \/y = /2 —x —y, i.e. t =y = 2 — 2z, and the only stationary point is

(z,y) = (gg)

The value of the function is here

/(33) - -

REMARK. Since we shall only find the maximum and the minimum on a closed and bounded
set, a numerical comparison is sufficient, and we do not have to go through an elaborated
examination of extrema. ¢

THE BOUNDARY:
a) We get on the boundary curve y = 0, x € [0, 2], the restriction

p(x) = f(2,0) = Vo + V2 -,

which for symmetric reasons has its maximum for x = 1 and its minimum for z = 0 and

r=2.
ALTERNATIVELY,
11 1 1
@)=z —=— = ——==0 f =1.
' (x) 9 \/E 2 \/m or x

the interesting values are

£(0,0) = £(2,0) =v2 and f(1,0) =2.
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b) By interchanging the letters (x,y) — (y,z) we get on the boundary curve 2 = 0, y € [0, 2]
the same function as above. Hence the candidates are

£(0,0) = f(0,2) =v2 and f(0,1) =2.
¢) We get on the boundary curve y = 2 — 2, « € [0, 2] the restriction
Y(@) = f(2,2 - 1) = Vo + V2 -z = p(z),
cf. above, so the candidates are
£(0,2) = f(2,0) =v2 and f(1,1)=2.

All things considered, we have found the candidates

2 2
! (g, §> = /6, (stationary point),

f(LO):f(Oal):f(Ll):Qa

Thence by comparison, the minimum value is
M = £(0,0) = £(2,0) = £(0,2)v2,

and the maximum value is
2 2
S = —,— | = V6.

4) Since f is continuous and the triangle A is connected, it follows from the first main theorem for
continuous functions that the range f(A) is also connected, hence an interval. Then it follows
from 3) that

f(A) = [M’S] = [\/57 \/6]

Example 2.9 The function f: A — R is given by
fay)=v2—2z—-y, A={(x,y)eR?®|2<z<1,22<y<2-z}
1) Ezplain why f has both a mazimum value S and a minimum value M.
2) Find S and M and the range f(A) of the function.
A Maximum and minimum and range.
D Apply the standard methods.
I 1) The domain A is indicated on the figure. Clearly, A is closed and bounded.

It follows that f is defined and continuous for y < 2 — x, thus in particular in A. It follows
from the second main theorem for continuous functions that f has both a maximum value .S
and a minimum value M on A. Since f is of class C™ in the interior of A, these values are
either attained at an inner stationary point or on the boundary.
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2) We get in the interior of Am
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Figure 39: The domain A.
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that S and M are attained at boundary points.

b) When y = 22, the restriction is

fla,2?)

1
2

1
22—z —y

These equations are never 0 in the interior of A, so f has no stationary points. We conclude

a) When y = 2—x, the restriction is f(z,2—x) = 0. As f(x,y) > 0, this must be the minimum

1
\/Zx:z:Q\/2+4<12+m+

R

122

)
2)2, x € [-2,1].
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1
It follows immediately that the maximum value is obtained for z = 5 ie.

Sf(%,i)g og M= f(z,2—x)=0.

Since A is connected, it follows from the first main theorem for continuous functions that
the range is

2

) =8 = [o.5].
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Example 2.10 1) Sketch the set
A={(z,y) eR* |2 +y* <2 ogy < O};
Indicate in particular the boundary OA on the figure. Explain why A is bounded and closed.

2) Explain why

f(xay):(33+y)v2—$2—y2a (ll?,y)EA,

has a minimum value M and a mazximum value S. Find these values as well as the points where
they are attained.

3) Finally, explain why the range f(A) of the function is an interval, and find f(A).
A Maximum and minimum. The first and second main theorems for continuous functions.

D Use the standard methods.

Figure 41: The point set A is the closed half disc in the lower half plane of centrum (0,0) and radius

V2.

I 1) The point set A is the intersection of the closed disc of centrum (0,0) and radius v/2, and the
closed lower half plain. An intersection of two closed sets is also closed, so A is closed. Since
A is contained in a disc of finite radius, A is bounded.

2) The function
fl@,y) = (z +y)vV2 —2? —y?
is defined and continuous on A.

Since A is closed and bounded and f is continuous, it follows from the second main theorem
for continuous functions that f has a minimum value M and a maximum value S on A.

Since f is of class C'*° in the interior of A, the values S and M can only be attained at an
interior stationary point in A° or on the boundary 0A.
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Figure 42: The zero lines of the function f(x,y) in A. There are the union of the half circle and the
oblique line y = —z. The function is negative to the left of this oblique line, and positive to the right
of it.

When we examine the sign of f we see that f can be both positive and negative. When we
specify S and M, we can exclude the zero curves, i.e. that part of the boundary which lies on
the circular arc, as well as the points of A, which lie on the line y = —x.

In particular, the examination of the boundary is reduced to the segment y = 0, « € [— V2, \/ﬁ],
on the X-axis, where we also can exclude the end points because the value is here 0. The
restriction of f to this part of the boundary is

p(z) = f(z,0) =2v2—2? .TE[—\/E,\/i],

with the derivative

o'(z) =2 —122— \/2.’17_ = = 2\(/12__9;2, for z €] —V2,V2[.

Tt follows that ¢'(x) = 0 for x = +1. Hence, on the boundary we get the following candidates
of S and M (because we have already excluded the end points and the circular arc),

f(1,0)=1 og  f(-1,0)=—1.

The possible stationary points in the interior of A (i.e. where 2 — 22 — 32 > 0 and y < 0) are
the solutions of the equations

2 2
8_]": . rx+y)  2-2"—axy—y _

Ox [2— 22— 42 2 — a2 — 42
of 1— 2% —zy — 2y? B

y Vs —a? —y?

which are reduced in the interior of A to

0,

0,

222 + xy +y? =2,
(11)
22 4+ xy +2y% = 2.
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Thus y2 = 22, i.e. either y = x or y = —z. By the analysis of the sign of f, neither of the
stationary points on y = —z can be a maximum or a minimum (the value of the function is
here zero). In the chase of the candidates the investigation is now reduced to the line segment
y=uwx, 2 €]— 1,0, (because y < 0). Then we get by insertion into either of the equations of
(11) that

=222 + 2y + y? = 422,

1
hence x = y = ———=. We note again that f may have stationary points on y = —x, but these are

V2

of no importance because the only relevant stationary point is < >7 corresponding

LI
V2 V2

to the value of the function

-5
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We have now found three candidates of M and S:
f (—i —i) — V2, f(-1.0) =1, f(1,0)=1
\/57 \/§ Y ) ) ) *
It follows by a numerical comparison that

1 1
v

3) Since A is convex, A is in particular connected. Since f is continuous in A, it follows from the
first main theorem for continuous functions that the range (here a subset of R) is connected,
hence an interval. Now f has according to 2) a minimum and a maximum, so we finally get

M_f< )_—\/5 and S = f(1,0) =1.

f(A) =M, 8] = [-V2,1].

Example 2.11 Let
A={(z,y) eR?*|2® -1 <y <3},
and consider the function f: A — R given by
flz,y) =1—2 —y+22%, (z,y) € A.
1) Sketch A, and explain why the function f has both a mazimum value S and a minimum value M.
2) Find the stationary points of the function f.
3) Find S and M.
4) Find the range f(A) of the function.
A Maximum and minimum and range of a function.

D Standard example.

-2 R i 2
x

Figure 43: The domain A.
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I 1) The set A is closed and bounded, and the polynomial f is continuous on A. It follows from
the second main theorem for continuous functions that f has both a maximum value S and a

minimum value M on A. Since f is of class C™ in the interior of A, the values S and M are
either attained at a stationary point or at a boundary point.

The equations of the stationary points are

2)
0 1
3_£ =-2x+42xy=0, ie 4dx <y— 5) =0,
0 1
—85 =-1+222=0, ie 22= 3
1 . . . .
——, which put into the first equation gives y = 3

We get from the latter equation that = = + 7

Hence, the stationary points are
1

(73) = (&)

T TS0 an =09 |0
V272 V272

and we note that they both lie in the interior of A:

a:2—1——1< —1<3
TS YTy

’1
|
\
\

i
i
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Figure 44: The graph of f over A.

3) The values at the stationary points are

PYAIEEE S N S BPOS O G
Vv2'2) 2 2 2 2 2

THE BOUNDARY.

a) By restriction to the line segment y = 3, x € [-2, 2],

o(x) = f(2,3) =1—2% -3+ 62° =52° — 2,
which clearly is smallest when x = 0, and largest when z = £2. We get the candidates

f(0,3)=—2 and f(£2,3) = 18.
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b) Considering the restriction to the parabolic arc we have two alternatives:
i) By the restriction to y = 22 — 1, x € [~2,2], we get

Y(x) = flz,22—1) = 2(1—2?) + 222 (2* 1) = 2(2? — 1),
which is smallest when x? = 1, and largest when 22 = (4:2)2.The candidates are
f(£1,0)=1—-1=0 and f(£2,3)=18.
ii) ALTERNATIVELY, 22 =y + 1, y € [-1,3], so
n(y) = -2y +20y+1y=2y°  ye[-1,3],
which is smallest for y = 0, and largest for y = 3, corresponding to
f(£1,0) =0 and f(£2,3) = 18.

Then by a numerical comparison of the candidates,

v ropd) 3
a)  f(0,3)=—2 and f(+2,3) =18,
b)  f(#1,0)=0 and f(£2,3) =18,
we finally get
S =f(£2,3) =18 and M = f(0,3) = —2.

¢) Since A is connected, and f is continuous, it follows from the first main theorem for con-
tinuous functions, that f(A) € R is connected, hence an interval.
We have in 3) shown that M = —2 and S = 18, so the range is

f(A) =[-2,18].

Example 2.12 Find the interval of range of the function

fap=a+oi(341), @aea

where
A={(z,y) eR?* |z >1,y>1, 2y < 32}.
A Maximum, minimum, interval of range.

D Sketch A and conclude that A is closed and bounded. Apply the first and second main theorems
for continuous functions. Find the possible stationary points. Check the boundary. Conclude by
a numerical comparison.

Download free books at BookBooN.com

129



Calculus 2c-4 Ranges of Functions

30

25

20

Figure 45: The closed and bounded domain A.

I It follows from the figure and the definition of A that A is connected and closed and bounded. Since
f(z,y) is continuous on the closed and bounded set A, it follows from the second main theorem
for continuous functions that f(x,y) has a maximum and a minimum on A. Since f is of class
C*°, the maximum and minimum values are to be found among the values at the possible inner
stationary points and at the boundary points.

Since A is also connected, and f is continuous, it follows from the first main theorem for continuous
functions that the range is connected, hence a closed interval, which must necessarily be

f(A) = [fmina fmax] .

The equations of the possible stationary points are

af 64 af 64
or Y 12 an oy T ’
thus

%y = 64 and ry? = 64.

Now x, y > 0 in A, so it follows by a division that T 1,i.e. y = z. Then by insertion 23 = 64, so

Y
x =y =4. Since xy = 16 < 32 and 4 > 1 we conclude that (4,4) lies in the interior of A. Hence
(4,4) is a stationary point, and the value of the function is here

11
f(4,4) =16 + 64 <Z+Z> — 16 + 32 = 48.

THE BOUNDARY.
1) Fory=1,1 <z < 32, we get the restriction
64
pr) = f(z,1) =z + . + 64
where

Pr)y=1-—==0 for x = 8.
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We notice the values

f(1,1)=p(1) =1+64 + 64 = 129,
f(32,1) = p(32) =32+ 2+ 64 =98,
f(8,1) = ¢(8) =8+ 8+ 64 = 0.
2) For z =1, 1 <y < 32, it follows by the symmetry,
f(1,1) =129, f(1,32) =98, f(1,8) = 80.
3) If xy = 32, ie. y = %, 1 < <32, we get the restriction

32 64
1/)(%)=xy+64~w=32+2<x+_) =97+ — +32
xry X x
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where

zb'(x)z?—%:() forz =32=4V2=y.

2

This is the only additional value, because we have already checked the end points of the interval
above,

F(V32,V/32) = ¢(V32) = 32 + (V32 + V/32) = 32 + 8V2.

Then compare the values of the candidates,

f(4,4) =48, f(1,1) =129, f(8,1) = f(1,8) = 80,

£(32,1) = £(1,32) =98,  f(V/32,V32) =32 +8V2 < 48.
It follows that the minimum value is

F(V32,4/32) = 32+ 8V2,
and the maximum value is

F(1,1) = 129.
The range is connected, so the interval of the range is

f(A) = [32+8V2,129].

Example 2.13 Given the function
f(ﬂc,y):21n(1+x2+y2)—|—x\/§+y, 2?4 y? < 4.
1) Explain why the function has a maximum value S and a minimum value M.

1 1
2) Show that the stationary points of the function are (—/2,—1) and <§ V2, §)

3) Find S and M.

4) Find the range of the function.

A Maximum and minimum, range.

D Sketch a figure. Follow the guidelines.

I 1) The domain A is a closed disc of centrum(0,0) and radius 2, thus A is closed and bounded and
connected.

Clearly, f is continuous on A and of class C*° in the interior of A. According to the second
main theorem for continuous functions, f has a maximum value S and a minimum value M on
A. These values are either attained at a stationary point or on the boundary, because there
are no exceptional points.

Notice also that A is connected, so the range f(A) = [M,S] is connected according to the the
first main theorem for continuous functions. This will be used in 4).
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1
Figure 46: The domain A and the line y = — .

V2

2) The equations of the stationary points are

of 4y
+v2 and 5= oot

a_f_ 4x
Or 1+ 2242

It follows that at a stationary point we must have x # 0 and y # 0, so the equations are
equivalent to

4dzy

4y _ _
B T+a?+y?

Ty = V2y end

—x, x#£0, y#O0.

Accordingly, the possible stationary points must lie on the line z = /2.

When we eliminate x in e.g. the latter equation of the stationary points, then

B 4y 4y
1422492 14 3y%

hence
3y +4y+1=0.

1
The solutions are y = —1 and y = -3 From x = v/2y follows that the only possible stationary

points are

(—v2,-1)  and (—% V2, —%) .

It remains to be proved that they are both stationary points.

a) They satisfy the equations:
i) For (—v/2,—1) we get

V2 s 5ivE=0 amd 2

1=-1+1=0.
1+2+1 1—|—2—|—1+ +
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1 1
ii) For <§ V2, §> we get

I
wm‘ |
ol
+
—
I
e

_4./9 _4./9 _
732\/_1—1—\/5: 34\/_+\/§:0and72
1+§+§ 3 1+§+

Ol

+1

el

b) They both lie in A:
i) For (—v/2,—1) we get

?+yP=24+1=3<4.

1 1 1
11) For (-g \/5,-5) = g (—\/5,1) we get
1 1

We have now proved that the stationary points are

(—v2,-1)  and <% NG é) ,

3) The values of the function at the stationary points are

F(=V2,-1) =2In(1+24+1)—vV2-vV2—1=2In4 -3,

1 1 2 1\ 1 1 4
V2, o) =21+ 242 ) V2 V2— - =2In- — L.
f( 3f7 3> n<+9+9> 3ff g =2ng

THE BOUNDARY.

Figure 47: The geometrical analysis of the maximum and the minimum on the boundary.

On the boundary 21n(1 + 22 + y?) = 2In 5 is constant. The maximum and minimum values on
the boundary are attained at those points in which 2v/2 +y attains its maximum and minimum
value on the circle. Geometrically these are given by the two tangents of the circle, which are
parallel to the line 2v/2 +y = 0, i.e. at the intersection points of the circle 22 + 32 = 4 and
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perpendicular to the line # = /2y, on which the stationary points lie. This gives the new
candidates

) \F 2 . ) \/5 2
3 ) \/g g 3 ) \/g N
Since all candidates of S and M lie on the line z = /2y, we get the following one-dimensional

variant of the identification of S and M:

The restriction to the line z = v/2 y is

2 2
gly) =2(1+3y*)+3y, ye€ [——3—3} :
where
12y 2 9
!
- i3 el =,
A T ! ] 3 3[
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1
As before we get ¢'(y) =0 for y = —1 and y = —3 The variation of ¢'(y) is:

2 <y< -1 1 l<y< L ! ! <y < 2
v |5y Y 73173 3°Y=8
q'(y) + 0 — 0 +
. .. 1
Thus we have a local maximum for y = —1 and a local minimum for y = —3

The candidates of S are
2
—1)=2In4—-3  and — ) =2In5+2V3.
g(-1) s( %)

It follows that
2 2 2
S = — | = 2\/;— =2<Inb+2V3 =~ 6,6830].
(%) f( 3 \/§> 16,6550

Analogously, the candidates of M are

2 1 4
.~ ) =2In5-2 —— | =2In-—1.
< \/g) nb V3 og g< 3) n3

By a numerical comparison on a pocket calculator we get

M=g (_l) g <_1\/§,_1> :2ln§ 1 [~ —0,4246).

3 3 3
ALTERNATIVELY a parametric description of the boundary is
(x,y) = (2 cosp, 2 sinp), ¢ € [0,27].
Hence the restriction to the boundary becomes
h(p) = f(2 cosp,2 sing) = 2In5 + 2v/2 cos ¢ + 2sin ¢
where

R (@) = —2v/2 sing + 2cos ¢ = 0

1
for tan ¢ = —, corresponding to
V2
+ ! + ! :I:\/E
COsS Y = = = —
V1 + tan? ¢ /1+% 3
and

2 1 1
ingp = t =4y /D=4
sinp = cosptan ¢ \/g \/; et
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where the signs are belonging together.

We get the candidates

(of3s) = (=f-%)

with the values of the function

2 8 4 2 2
0/, =) =2m(1+-+=)+2(/2 - V2+ ——==2In5+2V3
<\/;\/§> n(+3+3>+\/g\f+\/§ n5+2v/3,

and
2 2
f (2\/; ﬁ) =2In5 — 2V/3.

NUMERICAL COMPARISON.
We shall find the maximum and the minimum value among

J(-Va,-1)=2ldi-3,  f (—%ﬁ—%) ol

f (2\@%) =2In5+2v3, f <—2\/?—%> =2<In5—- V3.

Clearly,

2 2
= 2=, — | =21 2 =~ .
S f<\/;\/§> n5+ 2v3 ~ 6,6830

Then by a numerical comparison on a pocket calculator,

M:f( V-

4
- — ol — 1~ —0.4246.
3 3) "3 0-4246

Since A is connected, and f is continuous on A, the range f(A) is connected according to the
first main theorem for continuous functions. We have already found S and M in 3), so the
range is the interval

f(A) =M, 58] = [21n§—1,21n5+2\/§ .
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Example 2.14 Given the function

flz,y) =2ysinz — x, (z,y) € A,
where the domain A is given by the inequalities

—nggﬁ, 0<y<cosx.

2 2

1) Ezplain why the function has a mazimum value S and a minimum value M.
2) Find S and M.
3) Find the range of the function.
A Maximum and minimum values; range.

D Sketch A, and apply the second and the first main theorem for continuous functions.

Figure 48: The set A.

I 1) The set A is closed and bounded, and f is continuous. According to the second main theorem
for continuous functions, f has both a maximum value S and a minimum value M on A.

2) Since f is of class C*°, the values S and M are either attained at an inner stationary point or
at a boundary point.

STATIONARY POINTS.
The equations of the stationary points are

or =2ycosz—1=0 and of = 2sinz = 0.
Ox dy

It follows from the latter equation that x = pm, p € Z, i.e. x = 0, if the point shall also lie in
1
A. When this is put into the former equation we get 2y —1 = 0, so y = 3 Thus the only

1
stationary point in A is (0, 2). The value of the function at this point is

1 1
f<0,2)2~2~sm000.

THE BOUNDARY.
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a) On the boundary curve y =0, = € {—g, g], we have the restriction

p(x) = f(2,0) = —=,

with the maximum value

¢(3)=1(-539-3

and the minimum value

(3)=1(G0) =%
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™

T
b) On the boundary curve y = cosx, x € [—57 —}, we get, the restriction

2
(x) = f(z,cosx) =2cosz - sinx — z = sin 2z — x,
where
/ 1
P (x) =2cos2xr — 1 =0, cos2gg:§,

SO

™ 1 T
— (T 19 )~—:i— , €z
T ( 3+ DT 3 6+p7r p

Here p = 0, because we shall stay inside A, hence

¢(ﬁ=f@V7>=mg‘a=7"g=—7¢ﬂ
and
4 T V3 . T 3V3-—m
wC%)ZfC%"?>:‘“§+5=——7rf

Then by a numerical comparison,

Since A is connected, and f is continuous, it follows from the first main theorem for con-
tinuous functions that f(A) is connected, i.e. an interval. When we apply the results from

2), we get

f(4) =8 = |- 3. 5]
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